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2. Separate Optical Mark Reader (OMR) Answer Sheet
is supplied to you. The OMR Answer Sheet contains
boxes for filling Hall Ticket Number, Booklet
Number, Venue Code, Signature of the Candidate
and Invigilator. Fill the boxes with Blue/Black ball
point pen only.

3. If there is any defect in the Question Paper Booklet
or OMR Answer Sheet, please ask the invigilator for
replacement immediately.

4. Since the answer sheets are to be scanned (valued)
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have to USE BALL POINT PEN (BLUE/BLACK) ONLY for
darkening the circles in the OMR Sheet including
bubbling the answers. Bubbling with Pencil/Ink Pen/
Gel Pen is not permitted in the examination.

5. The Test Booklet number is printed on right corner
of the cover page of the Test Booklet. Mark your Test
Booklet number on side 1 of the OMR Answer Sheet
by darkening the appropriate circles with Blue/Black
ball point pen.

Example to fill up the Test Booklet Number :
If your Test Booklet number is ‘102365’ please fill as

shown below :
TEST BOOKLET
NUMBER
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If you have not darkened the Test Booklet number
at side 1 of the OMR Answer Sheet your Answer
Sheet will be invalidated without any further
notice. If it is darkened in a way that it leads to
discrepancy in determining the exact Test Booklet
number, then it may lead to wrong result/rejection
of the Answer Sheet and candidate himself/herself
will be responsible for the same.

6. Each question is followed by 4 answer choices. Of
these, you have to select one correct answer and
mark it on the Answer Sheet by darkening the
appropriate circle for the question. If more than one
circle is darkened, that answer will not be valued at
all. Use Blue/Black Ball point pen to fill the circle
completely. Make no other stray marks.

e.g. : If the answer for Question No. 1 is Answer
choice (2), it should be marked as follows:
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Consider the following in relation to the India’s

longest Rubber Dam inaugurated in September

2022 :

This dam is known as ‘Gayaji Dam’.

It is on the Falgu River.

Falgu River is in Odisha.

Experts from IIT (Roorkee) were involved

with this project.

E. Shri Gajendra Singh Shekhawat, Minister
of Jal Shakti inaugurated this Dam.

Choose the correct answer :

(1) A,B&Conly (2) A,B,C&Eonly

(3) A,B&Donly (4) B,D &E only

?o?goeoé: 2022 &° (B0DosadS rESRID ©d

TEIS S Ty Sowodod Bod B

H0KBoBod:

A, B Boird mos’ @otr.

28 ?’.,)exg 30 Gob.

He0 36 28t &0d.

& 856" oot (6r8)) Ademen PSS,
2038 HH0@ § KEoE HOR IHE Kb tsHd
ErSodoTeS.

338 2252080 0THE 0w

(1) A, B & C SrEsh

(2) A, B, C &E &b

(3) A,B&D SrEad

(4) B,D &E &ro@

Scientists are now fine-tuning their research to
make a presentation for the Geographical
Indications (GI) registration of “Kai Chutney”
under food category. Kai Chutney belongs to
which of the following region ?

(1) Maharashtra’s Hingoli

(2) Tamil Nadu’s Chengalpattu

(3) Karnataka’s Gulbarga

(4) Odisha’s Mayurbhanj

S8 Sorre Ssrod® wdb 387 0 PRPE 508
(GD) ™ $3reh Fabo ko BES8en =0
5685505 HE Do b B, o $d)

83808 8BS H Frosel8 TohHH ?
(1) SFoeres® rofitd

(2) BWETHSE™ Borkeyen

(3) BTSN He8

(4) 28t Hkrd)od

oCowm»

moaw

Consider the following in relation to the Internet

and Mobile Association of India (IAMAI)’s

report “Internet India” released in July, 2022 :

A. Around 346 million Indians are engaged in
online transactions.

B. The number of digital transactions in India
are greater than that of the US.

C. The number of female internet users are more
than male users.

D. Social-media, entertainment and
communications are the top three activities.

E. The report estimates that there will be 900
million internet users in India by 2025.

Choose the correct answer :

(1) A,B,C&Donly (2) A,C,D &E only

(3) A,B,D&Eonly (4) B,C &E only

a8 20228° QHSe DS @mowByS, IwBS

oFRDDH] @  modase  (IAMAI)  d360%

“32088)5 BOGATP” & Sowohod & 8o I

H0Ke30508 :

A ) 346 DD rsdamer ©f 88
TSt 3B TS .

B. gr88 $808® A8t erardde domy coIBE
) 808 A& &0,

C. HBHHO 508 Hdree 2003 DITTHTHL
SICLUINISW I

D. BHS-D&ose, kS0, é:ﬁw@éﬁ@ St
B seEsBeraren.

E. 2025 588 gr88680S° 900 0Dahs m0ed)s
DABFHTHen GotrER AROE ©oST SV0k.

{BK 2357220080 Q0HEKoakw :

(1) A, B, C & D &3 (2) A, C, D & E &

(3) A,B,D & E $rah (4) B, C & E Soig5h

Which of the following were associated with

celebration of ‘Azadi Ka Amrit Mahotsav’ ?

A. Aage Badho B. Jan Bhagidari

C. JaiHo Tiranga D. Har Ghar Tiranga

E. Badhe Chalo

Choose the correct answer :

(1) ALB,CCD&E (2) A,B&E only

(3) A,C&Donly (4) B,D&Eonly

& 806 BS* ‘werd = 058 HIFES’ 68508

502050 635y ®ozTen D) ?

A oRaf B. aSerhod C. BF 8o

D. &6 08 8o E. ot s

38K 2352208 D0HEKoskw:

(1) A\ B,C,D&E (2) A, B&E &»@

(3) A, C&DSr$d (4) B, D & E Sr@ad
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Consider the following in relation to the Indian

companies in Fortune 500 List in 2022 :

A. A total of nine Indian companies have
entered the list.

B. Five of them are private sector and four
were state-owned firms.

C. Life Insurance Corporation of India (LIC)
entered for the first time.

D. Reliance Industries and Tata Group are
among the private firms.

E. ONGC and BPCL are among the public
sector firms.

Choose the correct answer:

(1) A,B,C&Donly(2) A,C,D&E only

(3) B,C&Eonly (4 A,B&Donly

2022 8RS 500 e’y erdd Sonded

K020800 & 8od B HBKB0B0E:

A & S o SN’ eS5daH Sodden |

©SBomeom.

B. 88 o @3@3 Boio, Trenth HEhdy Sor

éoéw.

C. o8 428 D% $og (LIC) osBI0 |

$380008.

D. 8o 08N, &rer (75 o pId Soged® |

GO0,

E. ONGC, BPCL e» evds Sorf sogees‘s

00w,
038 2252080 D0tHE Ko30:
(1) A,B,C &D SwEsh
(2) A, C,D &E S5
(3) B,C &E Sr@d
(4) A,B&D SrEad
Bhushan

Consider the following Padma

Awardees of 2022. Which one of the pairs is i

NOT matched correctly ?

(1) Victor Banerjee : Art

(2) Ghulam Nabi Azad : Public Affairs

(3) Kirishna Ella and Suchitra Ella : Medicine
(4) Cyrus Poonawalla : Trade and Industry

2022 i, ares ward) ((Erdoh $orBosod. &

800 80 KM 898505 D&?
(1) ogbasd:.sy

(2) tHhero 8 werh : Hee $05Toen
3) éag @R, DG Jer : S50

(4) 28R Frdare : redesso, HOEeD

MASTER

Arrange the following countries from the highest
to lowest, based on their total medals tally at the
Commonwealth Games 2022 :

A. Canada B. England C. Australia
D. New Zealand E. India

S I e 20228° % RODS wdo Hise
Kogy wErdorT, & 80b B DS Hod BIHH

Jeom8 @8 0d:
A. S B. zorrotd
D. &rgderol B. grddddo

Choose the correct answer:
038 2252088 D0HE Kosm:
() B,C,A,D,E 2) CB,AE,D
(3) A’C7B7E7D (4) B7A7C’D’E

C. @é@dﬁw

What is “Exercise VINBAX 2022 ?

A. It is the 3™ edition of Vietnam-India
bilateral army drill.

B. It is held at the Dalhousie Cantonment,
Himachal Pradesh.

C. It is held at the Chandi Mandir Military
Station, Haryana.

D. The last such drill was held in Vietnam in
2019.

E. The Exercise was focused on deployment
of army engineers and medical teams in
United Nations peacekeeping operations.

Choose the correct answer:

(1) AOB,C,D&E (2) A,C,D &E only

(3) A,B&Donly (4) C&Donly

“Day§y Bardh 20227 @08 D0 ?

A 38 QoHE°)0-208 T BrgE DS Eareh 38
LS. -

B. ab &rirsd @36 & &R Sot’Foens®
220R08.

C. 28 oy 6% Hod 5085 Dwd JsHe®
230A08.

D. 25638 20198° dcherios® serod Sard
230A08.

E.  oforamdhd 08 90558 sdgordros?
w8 802208, B yoTre FreBoBE0P &8
S )R FB0D0B.

038 2252208 0HE Kosm:

(1) AB,C,D&E (2) A, C,D &E &»&

(3) A, B&D e (4) C & D SoEah



10.

11.

Which one of the following countries launched
gold coins named “Mosi-oa-Tunya” in a bid to
control the inflation ?
(1) Russia

(3) Zimbabwe

(2) Pakistan
(4) Sri Lanka

BFs0nemR) AaH0@0T BeHB)08° & 8od S D !

BE0 “TrR -2, -BHoy” ©F OTTPE TeTed DX
Z06 ?

(1) 835 (2) X8RS (3) Roardk (4) §ood
Mexican President Andres Manuel Lopez
Obrador has proposed a three-men commission
for global peace to the United Nations
Organization, comprising of the following:

A. Ukraine President Volodymyr Zelensky

B. Indian Prime Minister Narendra Modi

C. South African President Cyril Ramaphosa

D. UN Secretary-General Antonio Guterres

E. Pope Francis

Choose the correct answer :

(1) A,B&D only (2) A,C&E only

(3) B,D &E only (4) B,C&Donly
D88 B @oRS DS FE e eretd

55035 308 8550 & 8od mﬁnaéa S5 g&%S %o
08507 SDES HETBOTD:

BN oHid FT5rE 232y,

PES (HH00@ SBo I

5860 QT 5B HBS ToHES
0E50res08 VB 23555 0eFATP HBEH
D R

{BK 2357220080 QOHE Koakw :

(1) A,B&D&SrES (2) A, C & E $r$3h

(3) B,D & E &wEsd (4) B, C & D $r@i

m o 0w

Which of the following are the new Mandals declared

by the Government of Telangana in July, 2022 ?

A. Gundumal in Narayanpet

B. Gangadhara in Karimnagar

C. Dudyal in Vikarabad D. Zaffargadh in Jangoan
E. Saloora in Nizamabad

Choose the correct answer :

(1) A,B,C&Donly (2) A,C&D only

(3) A,C&E only (49) B,D &E only

& 8ob 8* Boorre Hehdo we8 2022 &°

I (HEE0DS Sroderen ) ?

A. *Te0hened S8 HosrS

B. 860555 &0 Koiierd C. Dsrorerd §8 dhweyS
D. 235 6% eH6 08 E. Qersirerd S50 Jeeres
{8 23522080 0HE Koskw:

(1) A,B,C & D &eEsh (2) A, C & D Smgsh
(3) A,C&ESr$sd (4) B,D &E S

12.

13.

Which of the following hospital gets ‘Kayakalpa
Award-2021" by securing first place in the area
hospitals category from the Union Ministry of
Health ?

(1) Vemulawada Hospital

(2) Jinnaram Hospital

(3) Narayanpet Hospital

(4) Madhira Hospital

& 800 Sargrared® DO eddghe SwN0S®

R0 @g:éoés Q09 Bos e8°Kg L0 o $Hod
‘TPahEe) @78 -2021 A FodE6 8?

(1) Ssweared Saegreae
(2) B)Bo Sargrae
(3) T CHEI D SR

(4) BB Saegrae

Malavath Poorna is a well-known mountaineer of
Telangana. She successfully climbed which of
the following mountain peak in June, 2022 ?

(1) Mount Akina, the highest mountain peak in
Japan

(2) Mount Denali, the highest mountain peak of
North America

(3) Mount Kilimanjaro, the highest mountain
peak in Africa

(4) Mount Elbrus, the highest peak in Russia
Hoerds G Boorrer FobI @%cg DG &8,

o e~ 2022 &° & 808 H58 pTras® TI

DescHdoBornr wdFFLPoN06?

(1) 3o o8xr, adrs &% vdos IBS HYE
B3pBo B

(2) o Bard, 638 oo &8 ws0d JBS
DB Lo B

(3) oS 800wt e &% wd JBS
DB Lo )

(4) o8 Aopl, ST wd0s IBY DG
B3pBo B
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14.

15.

Which of the following statements about Dr. K.
Keshavulu from Telangana are correct ?

A. He is the Managing Director of Telangana ¢

State Seed Development Corporation (TSSDC).
B. He is the Director of Telangana State Seed
Organic Certification Authority (TSSOCA).

C. He has been elected as the President of
International Seed Testing Association (ISTA).

D. He is the first from any Asian country to '

hold one of the top executive posts in ISTA.

E. He is a native of earstwhile Mahbubnagar :

District.

Choose the correct answer:

(1) A,B,C&Donly (2) A,C,D&E only
(3) B,C&Donly (4) A,B&Eonly

Boomrnd 3od . 8. BIJHen KHBodS 80d

D85S DO $TH6?

A 285 Boorme g 288 ey SEEES |

(TSSDC) 53eofi g3E5.

B. s Boormse ovh 285 Dopdd 6,288 |

@08 (TSSOCA) B356.

C. 93 wodrdeh S 08 Sozwo (ISTA) |

@ésé)&ﬁ" Qﬁbécﬁﬁegé).

D. o Sere $o& ISTA & af osss

SERToERE DS &) Foesed S8.
E. 2388 e Ssrarddnd aep ark.
038 22522088 0HE Kosm:
(1) A, B, C&DSr$(2) A, C, D & E Smigad
(3) B,C&D&rs$s  (4) A, B &E &o@ad

“Gandhari Vanam” got renovated recently under |

{18,

Telanganaku Haritha Haram Programme and ;
developed into a tourist attraction. Where is it

located ?
(1) Chintamanipatnam, Tandur
Vikarabad District

(2) Keesara Mandal, Medchal-Malkajgiri District
Mandal,

(3) Bokkalagutta, Mandamarri
Manchiryal District
(4) Gangadhara Mandal, Karimnagar District

“rrogrd $80” Bworred 08 o sEiE0
8ot afifo WSHGOoTDE, oS wEiwr

058 Tohalod. ad 8 65)B?

(1) DozrodHeno, erodrd Hokeo, Jseoeers

2er.
2) &35 Hotwo, S -oem,E AB Bep.
(3) &Eerbe), ot shoteo, HodoeyS .
(4) morEes fuokeo, 8803KE ger.

MASTER

Mandal of i

16.

17.

Which of the following was caring for the wounded
soldiers on the battlefield, and was later amended to
cover warfare at sea and prisoners of war ?

(1) Rome Protocols

(2) Nuremburg Conventions

(3) Geneva Conventions

(4) London Protocols

& 8ob TS DO EEFor o ards®

POHHRS 200 JoBEead éé%oiﬁa)&, BB
SPe08® SEmE ango, o Bhe vomed T
55860 Bohardod ?

(1) 85 st=d, (2) &rBoaf E33R,
3) 2> EIRS (4) ©okS @bebt=s,

Which of the following countries formed the

group known as BASIC ?

(1) Afghanistan, South Africa,
Columbia

(2) Brazil, South Africa, India and China

(3) Brazil, Argentina, South Africa, India and
Canada

(4) Brazil, Argentina, South Africa, India and
Chile

& 8ob 8¢ ZE (BASIC) daven o dosad

000558 TR0 WIS DR?

(1) XS, 88w ee, PESEE0, Beodoir
() BES, 58w s, PSSR0, Dar

(3) BaS, ©308, 88w e, FE8EF0, 35T
(4) @8, ©Zodr, 88w wse, erdsiEo, DO

India and

The official mandate of the IMF includes :

A. To promote international monetary cooperation.

B. To promote exchange stability.

C. To eliminate foreign exchange restrictions.

D. To provide long-term loans for the projects.

E. To facilitate the expansion and balanced
growth of international trade.

Choose the correct answer:

(1) A,B&Donly (2) A,B,C&Eonly

(3) C,D &E only 4 A,B,C,D&E

IMF 096588 es3a°en /ogesen:

A ©0STHD (5 STy B 2roto.

B.  &r88 d8amyd) @8 roisio.

C. B8 5r8E (555500t Sohosto.

D. FE%ob 6YsdE there a0,

E @oééq:égéoﬁa ey DQ0e, DSy HyBI
Boef B0 Fohio.

{8 23522080 0HEKoskw:

(1) A,B&D&eEs (2) A,B,C &E $o@sh

(3) C,D&ESr$d (4) AB,C,D&E



Match the following UN Secretary Generals ; 20.  Match the following UN Conventions with their

(present/past)with their respective countries : respective subjects :

Convention Subject
Secretary General Country
! A. Convention on the 1. Law of the Seas
A. Javier  Perez de 1. Egypt Prevention and
Cuellar ‘ Punishment of the
] Crime of Genocide.
B. Boutros-Boutros Ghali 2. Portugal

E B. Convention on the 2. Disarmament
C. Kofi Annan 3. South Korea ’ Reduction of
. : Statelessness.
D. Ban Ki-Moon 4. Peru :
C. Convention on the 3. Human Rights
E. Antonio Guterres 5. Ghana 5 Continental Shelf.
6. France D. Convention on Cluster 4. Health &
Munitions. Environment
& 800 oETradihd ELE assd ol i
5. Refugees
(808 /118 )ard Bared® et - s & Bob ¥y S8 EIPFH B Bowohd
DRSO 23855505 :
2O 58S 340 i RAFOE @O
SRR D0
A BDoHEBEEBRE 1. &Kad é
’ A, PEI05HE I8 1 SLogseren
B. @&%0- @S 2. PEHyd é QarSes, BEOD
S35,
C. Shons 3. SBToae | g
; B. orep8irsdio 2. QoecinbEsen
D. 2rS85eS 4, v&r F é@oiﬁéo@ éﬁséﬁ-
i
E. o0t ddm rfhers® 5. e i C. powdeoopsIRR. 3. SeISTEpe
D. %8s > 4. o8
6 @05\) s - o L. 9_) &) ?SO;
§5§€65. éc‘g&ﬁés&o
5 o)
Choose the correct answer :
i 5. %’658@65@3@0

{80230 00 0tHE 0w ;
“ : Choose the correct answer :

(1) A-5;B-3;C-4;D-2
(2) A-4;B-2;C-5;D-1
(3) A-3;B-5;C-1; D-2
(4) A-2;B-4;C-1;D-3; E-6 (4) A-3;B-2;C-5;D4

7 MASTER

(2) A-4;B-1;C-5;D-3; E-2

(3) A-2;B-1;C-3; D-5; E-4



21.

22.

What is the implication for India of ratifying the
‘Additional Protocol’ with the International
Atomic Energy Agency (IAEA) ?

(1) The Indian civilian nuclear power
establishments come  under IAEA
safeguards.

(2) India gets access to nuclear technology

trade with the Nuclear Supplier Group ¢

countries.

(3) India gets access to import of uranium from
the Nuclear Supplier Group countries.

(4) India gets permission to import nuclear
weapons technology from nuclear weapon
countries.

©oSTE e B0 S0P (IAEA) &° grd8ddo
‘O55H PP SH eFrdosto Fo GAED
©0BITY5K E ?

(1) ar88 P8 o 20ES Sogen 0.0.9.9).

$055e0 0658 HJeaw.

(2) Sg8aHb HPAHE (%) Beros® FPEBREIS

@620 PoBBE a8 Fergiio FPoEod.

(3) JIrBaHE  BPHE e  Dee ol
PEER8  AwOAcHo  BIrHKadE e
BenrHEod.

24.

(4)  emicing Barei0d wepicing PosBESH

BIHHS BHESTA8 PSR I8 @S

0800.

Which of the following are considered as the
major coral reef areas of India ?

A. Gulfof Mannar B. Gulfof Trombe

C. Lakshadweep D. Gulfof Kachchh
Choose the correct answer :

(1) A,B&Conly (2) A,B&Donly

(3) A,C&Donly (4) B,C & D only

& 808 8S® DD PBEBED S DBy

@roseen HoKdosarsaron ?

A KSeSHmE B, KS)ed Erod
C. o56% D. KSedsd
338 225208 0THE 0w

(1) A, B & C SrEs
(2) A,B&D &rE
(3) A, C&D &rE
(4) B,C & D e
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23.

25.

“Talanoa Dialogue” is related to :

(1) The UN talks on debt relief to the Least
Developed Countries

(2) The UN Climate Change Talks

(3) The G-20 countries talks on technology transfer

(4) The WHO talks on finding origins of
Covid-19 pandemic

“BoFe gorh” HAS $02080DH58:

(1) 8%% o508 Jobd Bero S NENED
085072359608 258 e0

(2) TEeHBes Sty 85T 58 e0

(3) F0SEE HOePS0 rG)ED #-20 T Sy

(4) SDE-19 Dirdr®  HeE I8P
Saapg. oD . B0

Arrange the following States based on highest to
lowest death toll recorded on account of
Thunderstorms and Lightening events in 2021 :
A. Bihar B. Madhya Pradesh C. Odisha
D. West Bengal E. Rajasthan

2021° &Hdmen, HHo Hede sEmorr

SIPBS adere Sowy egrdorr & Bod e
©&BB0 08 0S8 Hd)w:
A. D8 B. 05086
D. $8)@omrS E.  oreedld

Choose the correct answer :
{BK 2357220080 Q0HEKoakw :

(1) B,A,D,E,C 2) CB,A,D,E

(3) D,B,C,E, A 4 AE,C,B,D

India recorded the highest number of Tiger

deaths in 2021. Consider the following in

relation to this :

A. Atotal of 127 Tigers died.

B.  Gujarat ranks first in this fatality.

C. Madhya Pradesh ranks first in this fatality.

D. Maharashtra and Karnataka occupy second
and third position respectively.

Choose the correct answer :

(1) A,B&D only (2) A,C&Donly

(3) A &Bonly (4) B &Donly

PS8BS 05t 2021658 ERAAS K)ospPSeSs Dene Hobesren

$g8meom. 8 50220809 5 B0 3 $H0eB0HEM :

A. oo 127 Heven Hedoaeom.

B. & S8erost Heaoed Swde (5526065 &08.

C. & Dderod® i HRE ts Foo $2r5ob.

D. Sfory, Sl SHI Bod,  Krdsd
P aTyow.

{BK 2357220080 Q0HEKoakw :

(1) A B&D&rEd (2) A, C&D SrEsh

(3) A & B Smgad (4) B &D Sr$d

C. 2.8



26.

27.

Match the following Cyclones of 2021 with their
intensity :

Cyclone Intensity
A. GULAB 1. Very Severe Cyclonic
Storm
B. YAAS 2. Severe Cyclonic Storm
C. TAUKTAE 3. Cyclonic Storm
D. SHAHEEN 4. Lowest Cyclonic

Storm
5. Extremely Severe
Cyclonic Storm
20216° K005 & od HFHedH S

BRS08® adhsHn:
&irden 88
A. Dol 1. 083 28°05 dHars
B. &R 2. 8B 28°E dard
C. &% 3. 288 HrH
D. %8 4. ©8 855 DEIE Hrd

5. B8 & DSE By
Choose the correct answer :
038 22522088 0HE Kosm:
(1) A-5;B-2;C-4;D-3 (2) A-2;B-5;C-4;D-1
(3) A-4;B-3;C-1;D-2 (4) A-3;B-1;C-5;D-2

Match the following Corona Virus variants with
their originating country :

Variant Country of Origin
A. Alpha I. Brazil
B. Beta 2. United States
C. Delta 3. United Kingdom
D. Gamma 4. India
3. South Africa

& 8ob 85% JBR Eseoid 9 B0 Teres®
238HB 0!

6% 880 w58 0D BEo
A o) 1. @&d
B. der 2. c3BE )
C. Gep 3. o38BE 8oh Ko
D. & 4. grdsEso

5. e s

Choose the correct answer :
038 2252088 D0HE Kosm:

(1) A-3;B-5;C-4,D-1
(2) A-2;B-3;C-4,D-5
(3) A-5;B-4;C-1,D-2
(4) A-5;B-4;C-2,D-3

28.

29.

Consider the following in relation to the literacy

rate in India :

A. Literacy rate of India at the time of
independence in 1947 was 12%.

B. As per the 2011 Census the literacy rate in
India was 76%.

C. Compared to the adult literacy rate, youth
literacy rate was about 9% higher as per
2011 Census.

D. As per the 2011 Census, literacy rate
among males was over 80%.

E. As per the 2011 Census, literacy rate
among females was 65.46%.

Choose the correct answer :

(1) A,B&Conly (2) A,B,C&Donly

3) A,C,D&Eonly (4) B,D&Eonly

PEETE0St 0o Tend $o2080d & 80d

0839 HBK5BoBod !

. 19476° gBoo HNISPE FEERE ©FomsS

Bew 12%.

. 2011 eseer Kesposre (HE080 eRsE @ETuS 36w

76%.

. 2011 «337gr Heposee (P80 HABTed ©FTedS

Sens® DB cttosens @ Eoridg Bew 9% DD,

. 2011 aarer Keposee HEeso HEoS® oo

e 80% B0 Q8.

. 2011 sarer Kerosee (H8o SirEed® ook
Bew 65.46%.
038 2252088 D0HE Kosm:

(1) A,B&CSr$sd  (2) A, B, C & D&r@a
(3) A, C,D & Esmah (4) B, D & ESm@ad

Women won a greater number of seats in the
following state legislative assemblies when
compared to other states (as on 31% December,
2021). Arrange them in descending order based
on the number of seats women occupy in the
respective assemblies :

A. West Bengal B. Bihar C. Jharkhand

D. Chhattisgarh  E. Rajasthan

988 Tred’ PO (3180nth 2021 FB8) &

806 U°§°e> 5585088 Srdeden NSO éoaagg@‘s ‘foégg
Ren ). Sowodd @J?ooai)e)é‘s Sodegen Renthdody
&3 Somg esgrdore eEime E0od® esos)km:

A S8@@orrS B. &5 C. ergol

D. $8%5 %8 E. oad

Choose the correct answer:

{8 23522080 0HEKoskw:

() D;A;CE;B (2) C,;A;D;B;E

(3) B;D;AE;C 4) A;CB;D;E
MASTER



30.

31.

32.

As per the NITI Aayog’s Health Index Round IV
2019-20, which of the following states emerged
as the best three performers in terms of overall
performance ?

(1) Gujarat, Madhya Pradesh and Uttar Pradesh

(2) Kerala, Tamil Nadu and Telangana
(3) Kerala, Karnataka and Andhra Pradesh
(4) Kerala, Gujarat, Karnataka

& 800 8t O o@Brh 2§ =orE) Tof IV

2019-20 sedo o) 8500 HABH errdorr $Hod
SBE FH58)00D Kot ToFren DD?

(1) s, LS8, s88HEE

(2) B8¥, 8w¥eH, Boorres

(3) 28¢, Sooye8, woBHES

(4) B3¢, Heoes, Sood

Which of the following Prime
appointed Mandal Commission
decision to implement its report ?

(1) Chandra Sekhar and Deve Gowda

(2) Morarji Desai and Viswanath Pratap Singh
(3) Indira Gandhi and Viswanath Pratap Singh
(4) Indira Gandhi and Rajiv Gandhi

& 80b Prrddoges® Hokd  EhHd

FA[eR AV AlTAR Y] 8@‘563263 300 HED0E DXL ?
(1) Sodnb; B3R

(2) o Baedd; DI Hees doh

(3) =080° rob); QT HEes doh

“)

and

B0BT° od); T°dS rob

The ‘Make in India’ effort of Indian Railways

has culminated into India's :

(1) First semi high speed train Vande Bharat
Express

(2) First high speed train Shatabdi Express

(3) First semi high speed train Gatimaan

“)

Express

First high speed train Rajdhani Express
PS8 B PRI’ Soird (DE al
BO&AP) Byl Soreore DEPOS grESRED ©odin
Descdo:
(1) $03 ar5E )RR, Fotg@ncse 2 3RE Gen
(2) £ IF) DR, In0esEs 286 Ben
(3) KBRS IE) S, FoeF0ese3 28 3rRE e
(4) T O8) R, F0&0ese3 286 Ben

MASTER

Ministers &
taken i

i
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33.

34.

35.

According to the Export Preparedness Index
2020, the following is NOT a part of the
Government of India’s schemes for the
promotion of exports :

(1) Transport and Marketing Assistance Scheme
(2) Trade Infrastructure for Exports Scheme

(3) Primary Goods Exports Scheme

(4) Merchandise Export Scheme

I8y P @28 I 108§ 2020 Hsedo MhndHe
b0 80 g Hehdso 36@;6 DEsees® 1
&80 580

(1) Bapew, £7880R $a% HEE0

(2) AP BEH ey FOE Shardire
SgBo

P8 Snde H&e HEso

$550 (58,088 ) MbHEe S0

3)
“

The Union Budget for Financial Year 2022-23

aims to strengthen the infrastructure with its

focus on which of the following priorities ?

A. Inclusive Development

B. PM Gati Shakti

C. MGNREGP

D. Information and Communication
Technology (ICT)

Choose the correct answer :

(1) A,B,C&D (2) A,B & Conly

(3) C&Donly (4) A &Bonly

2022-23 % @gé 00588 Bos aa§€’5 & 808 &

@roesy Sorrest SPO% Sharaired adthso

Jasrel oFom X0 ?

A. éfﬂ)&@é I 9){:;)

B. 2.00.58%8

C. 2d0RS«6a82 (MGNREGP)

D. 808, 85550848 Bsoyd (ICT)
{8 23522080 D0HEKoskw:

(1) A,B,C&D
(3) C&D &rEs

(2) A,B&C&eEsd
(4) A &B &rED

According to the Global Wealth Report 2021, the
total wealth of India between 2000 and 2020 is :
(1) Increased eight-fold

(2) Increased five-fold

(3) Decreased two-fold

(4) Increased three-fold

%05 $oHes AS6E 2021 Hsedo 2000 K08 2020

$685 Pe0S® B0Bo PESIE Ko :
(1) AADHosen 2BAH (2) DdoBen 2BACH
(3) Boloden Ehob (4) Sor&oden DBAOH



36.

37.

38.

Which of the following sector(s) showed positive

growth in Real Gross Value-Added terms in

2020-217?

(1) Trade, Hotels, Transport, Communication
and Services related to Broadcasting :

(2) Manufacturing Sector

(3) Agriculture, Forestry and Fishing Sector

(4) Mining and Quarrying Sector

& 0B B 2020-218° %S Ko £°8F Dend

SRS JedrsEre Eﬁa@f{) 520808 Boro /Borren

B /3D?

(1) oedeggo, Feeh), Savee, EERESS, B3
K008 DHen

(2) a0 Boiso i

(3) HEIcho, o6, Fde 6818 Sorfo

4) Do zesBomord Soro

Arrange the following major sources of India’s

Foreign Direct Investment (FDI) during 2021-22

from highest to lowest :

A. United States of America

B. Mauritius

C. Singapore

D. Netherlands

B8 HEE weyade (FDI) wogoe a8 Gaedd

2021-22¢% & 808 O Bare Hod @868 $Hod

&5 SJen SRR Bl dorr ooydn: |

A, cn3BE HE) o5 0O

B. &r050
B

C. 2oK5r8
D. 3ok, f

i
Choose the correct answer :
88 e2aan0 DoHE K0! :
() D,B,A,C 2) B,A,C,D
3) C,AB,D 4) A,B,D,C

What is “Chahar Taslim” ?
(1) Ttis a mode of salutation. !
(2) A book written by Abul Fazal.
(3) A poetry collection of Nur Jahan.
(4) Ttis a form of a dance.

“To58 E20” @0 HQE ?

(1) 26288578 bl

(2) oend Had TrdS a8 Kodo

3) 267025555 BB D0HE

(4) 388 ety Sro
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39.

40.

Match the following Land classifications of
Moghul period with their attributed meanings :

Classification Meaning

A. Polaj 1. Land that has left fallow
for three or four years.

B. Parauti 2. Land uncultivated for

five years or more.

C. Chachar 3. Land left out of
cultivation for a time for
the recovery of its
strength.

D. Banjar 4. Highly fertile and
irrigated land.

5. Land regularly cultivated
and is never allowed to

lie fallow.

oS oo o83 S 80d e éééés@@& )

K02006H3 @tgo@ 238HEHA:

5688 ©go

A. Derd 1. St So eenid Do
Do DAOVBoWS 2.

B. %3°® 2. @ Sor @odBod Ey
Dotare FrHBAN 4.

C. o386 3. ™ ;Bo Kg)sééocgéea &%
o8 oo JHBSEEoT

605 &edb.
D. 2026 4., 58 FHEes® &5 ©8
FBH0SEIS &edd.
5. e Erre e Gosom
QBosBB0 FrH Bt 4.
Choose the correct answer
8K 23522080 0HEKoskw:

(1) A-3;B-1;C-4;D-2 (2) A-2;B-5;C-4; D-1
(3) A-3;B4;C-5;D-2 (4) A-5;B-3;C-1;D-2

Which of the following were amongst the most
important Mahajanapadas ?

A. Nalanda B. Gandhara C. Kosala

D. Kuntala E. Panchala

Choose the correct answer :

(1) A,B&Donly (2) A,C&E only

(3) B,C&Donly (4) B,C&Eonly

& 808 BS® 0808 InagRS el Hrreore

So08ID NN ?

A. Jo08 B. o8 C. s%e

D. oo  E. Jrowre

8K 23522080 D0HEKoskw:

(1) A B&D&rES (2) A, C&E SrE
(3) B,C&D&r@d (4) B,C &E $rE

MASTER



41.

42.

Which of the following are considered as part of | 43.

five major provincial centres of Ashokan Empire ?
A. Taxila B. Kamboja

C. Ujjayani D. Tosali

E. Suvarnagiri

Choose the correct answer :

(1) A,B & Conly (2) A,B,C&Donly
3) A,C,D&Eonly (4) B,C,D &E only

& 808 B DY 0 JEres0st o B |

Sro&cdh Bomres® griforr HBKBosatEeom ?

A 8%3e B. scodte
C. &gond D. &9
E. “a})égﬁﬁ

038 2252088 D0HE Kosm:

(1) AAB& C&»Ed (2) A, B,C&DSrEd
(3) A, C,D & E&eEsh (4) B, C, D & E Smad

Consider the following in relation to the Sun

Temple of Konark :
A. Konark is a monumental representation of
the Sun God, Surya's Chariot.

B. Its 24 wheels are decorated with symbolic i

designs.

i
H

H

i

C. The Chariot is led by a team of sixteen i

horses.

D. It is considered to be built by King

Narashimhadev-I of the Ganga dynasty.
E. It is decorated with reliefs of fantastic lions,
musicians and dancers.
Choose the correct answer :
(1) A,B,C&Donly (2) A,B,C&Eonly
(3) A,B,D&Eonly (4) A,C,D &E only
8838, $8Q Sty BareodhodD $o20fod & 8od
T HBKKBoBoR :
A. §Ssa°8& TP BHH Qoe8gQ BB o8B Dy0.
B. &9 24 $een @é?é&é gE Bk BOA

E°)OW.

C. 3rdy D0 ez 2yoto 26&%)@:6&%3

&0,

D. 98 Kfore oo 038 BobS Trer el
SB2OEFEHT  ABpBEI6M  HOKBoS-
VeSS AN

E. &0 3 ooosnm olnd S dodkw,
HoAssHen, $ aééegsvéa@@ ErtHBR) e B.

{BK 2357220080 QOHE Koakw :

(1) A,B,C&D&eEs (2) A, B, C &E S

(3) A,B,D&E&mEd (4) A,C.D&E&rEd

MASTER
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44,

As per the archaeological evidences, consider the

following in relation to Harappan Civilization :

A. The Harappans ate a wide range of plant
and animal products, including fish.

B. Grains found include wheat, barley, lentil,
chickpea and sesame.

C. Rice grains were found abundantly in all
the areas.

D. Animal bones found include cattle, sheep,
goat, buffalo and pig.

E. Bones of fish and fowl are also found.

Choose the correct answer :

(1) A,B,D&Eonly (2) A,B,C&D only

(3) B,C,D&Eonly 4) A,B,C,D&E

Doy worTre (IR0 BT ii0EE%H

30205070 &3 808 5783 HdKieBoSod:

A SREHK0en BHes® I I8 Sso S0,
2308 6:8)H 0D HBoTDD.

B. wearged® A, ard, D8y Sween, 3K
Bseen, K0H5e0 5T oM.

C. o) @Eozod® $B rasen OJT
©oDI°CW.
D. $8Hew, f°Bev, Soben, Aden,

H0&B0NED ©8oTean.
E. 3Hen, 5@ dnsen Erme $920 D000,
{8 23522080 0HEKosw:
(1) A,B,D&E&rEs (2) A, B,C&DSmEs
(3) B,C,D&E&rEdh (4) A, B,C,D&E

Who among the following argued that “Colonial
education created a sense of inferiority in the
minds of Indians, it made them see Western
Civilization as superior, and destroyed the pride,
Indians had in their own culture” ?

(1) Raja Rammohan Roy

(2) Womesh Chandra Bannerjee

(3) Mahatma Jothiba Phule

(4) Mahatma Gandhi

“Hodaes 5)(15?3 r8& 50 25326‘/@.30856 NI
T 030008, eEBE0LE 0 V0B &)
FEFQ)  addo B, FayE;  HOESEH
EHBBIOT oo Bod” o & Bobd o’
AN FPHoE?

(1) ores ToSrgEeS TocD

Q) RS BIY

(3) e, S8er HB

(4) SoStery ol



45.

46.

Consider the following in relation to the

Khajuraho Group of Monuments :

A. The temples at Khajuraho were built during
the Shunga dynasty.

B. These belong to two different religions —
Hinduism and Jainism.

C. These display the originality and high quality
of Nagara-style temple architecture.

D.

These were built in sandstone, elevated from !

environs by a highly ornate terraced platform.
E. The temples at Khajuraho were built during
the Chandella dynasty.
Choose the correct answer :
(1) A,C&Donly (2) A,B,C&Donly
(3) B,C&Donly (4) B,C,D&E only
eSS S Fo 88 By 020500 & 8od

3083 HBK5e30508 !

A. pTod®Std darodiren  $oX  oredod

sre06® A0 SaTE.
B. 28roe, 85 o880t 305 Ereh Boha.

C. ad 08558 Treags BONS Srroe sodd 3e) 39

BOUIPe TRDESD DEERoD.

D. a9 z‘ﬁ;é.:q;e‘ée) ©O05E 08 HoODHOS® Erd
B Iee sHETronE® A8 0SEToom.

E. pe5® 680 Sorodirer Sofer moabod
sre06® A0 SaTEa.

38K 23522080 D0HEKoskm:

(1) A,C&D&r$ad (2) A,B,C &D &eEsh

(3) B,C&D&r$ (4) B, C,D & E S

Which of the following is NOT an essential

qualification for appointment as a Governor ?

(1) He/She must not be a member of
Legislature or Parliament.

(2) He/She should be a citizen of India and
completed 35 years of age.

(3) He/She should have a domicile of the state
to which he/she is being appointed.

(4) He/She shall not be holding any office of profit
under Central, State or Local Government.

& 808 BS® K58 TPLITIS SHSBS Slet:

200 A80?

(1) o&dH/6B w6558 So EDotn $ahyd
0N HOLEREL.

(2) 08 /6D rEERE FHF sowed, 35 Dok
5050 EOA GoTD.

(3) ©8H/6D & TPAS Jahosarers® T
Qard ®ow GOT°d.

(4) @85 /8 S0, o7 Sop PR ehaeges®
PO CPATPODEFoS DED EOA SOLEERED.
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Using the powers enshrined in Articles 2 and 3

of the Constitution of India, the Parliament can

do which of the following ?

A. Admit new territories as new state of India.

B.  Split or merge existing Indian states.

C. Transfer and exchange of territories to
neighbouring countries.

D. Alter the names and boundaries of existing
Indian States.

Choose the correct option :

(1) A,B&Conly (2) A,B&Donly

(3) A,C&Donly 4 A,B,C&D

PS8 erorostd  HESwmen 2, 3 et

OB LDES ©FST LR GHATRA0Y, FPT0w

& 808 B3SO Sohried ?

A BE grerrod rsEddos® £8 orgore
Jsnytssso.

B. =88 &8 odd oo dFLosio G~
DOS0 Bodhiso.

C. DHH Borod sregrme S8, 269
Fodhiso.

D. =388 &) 88 ogre ), SBeen
S so.

{BK 235722080 Q0HEKoakw :

(1) A B&CSrEd (2) A, B&D Segad

3) A C&D&»Ed (4) AB,C&D

Which of the following Lok Sabhas were NOT
completed their five-year term of existence ?

A. Tenth B. Eleventh

C. Twelfth D. Thirteenth

Choose the correct answer :

(1) A &Bonly (2) B & Conly

(3) C&Donly (4) A &Donly

& Bob >8R O 6 S B KO 0

o0& oo sPe0 SR K B ?

A 55 B. 580%d

C. ORoisd D. HS5eES

3038 22522088 D0HE Kosm:

(1) A&B&RED  (2) B&C&rEd

(3) C & D Sz 4) A &D &rEs
MASTER



49.

50.

Consider the following statements relevant to the

Principles of Ministerial Responsibility :

A. The Council of Ministers shall
collectively responsible to the Lok Sabha.

be

B. The Council of Ministers shall meet at least :

once in a month.

C. Ministry as a body shall resign as soon as it ;

loses the confidence of the Lok Sabha.
D. The Ministers shall hold the office during
the pleasure of the President.
Choose the correct answer :
(1) A,B&Conly (2) B,C&Donly
(3) A,B&Donly (4) A,C&Donly
0B BB ergiBot Sowohod) B 8ol sz

5015303508

A 0@ Hoxd &F “uH DY e |
H3e00b. i

B. 0@ $o%® ok 8o 280
BEPSE ST 08 .

C. &% $gs® daegdo St iomd Fowd Ho@ ‘

£088 Indo Tl Fard.
D. o8 oo HEH Hoge ehwsos®
RIFrHE°D.
38K 2352208 0HEKoskw:
(1) A B&C&SrEsd (2) B,C&D soEsh
(3) AB&D&r@d (4) A, C&D Srgsh

Who were

the other members of Justice

E
H
4

¥

R.S. Sarkaria Commission on Centre—Stateié

Relations ?

(1) B. Sivaraman & Dr. S.R. Sen

(2) M.M. Punchi & V.K. Duggal

(3) Dhirendra Singh & N.R. Madhavan

(4) V.K. Duggal, Shankar & N.R.
Madhavan

éo@—c%é D020TPOPH JT°)ED 395 &?85 «8. dD.

507005 RSt B8 Sahgen 5 ?

(1) 9. 850°508, =°. 9. 8. DS

(2) @o.20.5r0N, 8.5

(3) &30 20R, dF. 88, SPEHS

@) 93.508, Dadd $058, . @b, &rEsS

Vijai

MASTER

14

51.

o0 w >

52,

The effects of the Proclamation of National

emergency are :

A. Extension of the Executive Powers of the
Union Government.

B. Extension of the Parliament’s law making powers.

C. The federal provisions of the Constitution
will continue to function.

D. Restriction on fundamental
guaranteed in the Constitution.

Choose the correct answer :

(1) A &Bonly (2) A &Conly

(3) A,B&Conly (4) A,B&Donly

PHAD L IRVe) 0“369%)@ (DB (erareen :

Sols (08 SERTFRE ©fSTTren S BT Eeow.

Yot Sepen ErEPoB0T ©BSTTo DRBSTEeon.

mwéoﬁoé‘sé‘\) Qg o Feeen HABERT Gotran.

Toe0110 B B @PEaE g oP HOMS.

38K 2352208 0HE Koskm:

(1) A&B&RED  (2) A &CEeEsd

3) A B&CSrEd (4) A, B&D Srgd

According to the Election and Other Related

Laws (Amendment) Act, 2003 :

A. A 50% tax exemption to individuals and
corporates on all contributions to political parties.

B. Disclosure of party finances and
contributions over ¥ 20,000.

C. Equitable sharing of time by the recognized
political parties on the cable television network
and other electronic media (public and private).

D. Expenditure by third parties and political parties
comes under ceiling limits, and only travel
expenditure of leaders of parties is exempted.

Choose the correct answer :

(1) A,B&Conly (2) B,C&Donly

(3) A,C&Donly 4 AB,C&D

AYBew, 888 Kowohd Sere ($58e) Heyo, 2003

sed0:

A SBo, S0 Tabdh Ffeb o) @bl
3580 50% 0y 1PIsFono).

B. o &r. 20,000 &30 D €88 BiFcho,
Q& SonohE woe F0&.

C. Sad BOJS 655), 888 JoTE J&air
(588, p6) B8 SHareH KoD
ot orasdas e Ko HoHstsio.

D. @éo OBy HAre  Hgoho S,
oo Fen, adthen B Sobo IS
) HOoR HBHS 8IS $:%0h.

338 2352080 0THE osko:

(1) A B&C&SrEd (2) B,C&D &roEsh

3) A, C&D&rEd (4) A B, C&D

freedoms



53.

54.

Which of the following group of persons were
members of State Reorganization Commission ?

(1) S. Fazal Ali, S.K. Dhar, H.N. Kunzru

(2) S. Fazal Ali, K.M. Panikkar, B.M. Katzu
(3) S. Fazal Ali, S.K. Dhar, K.M. Panikkar

(4) S. Fazal Ali, H.N. Kunzru, K.M. Panikkar
ooEre DI B5REse EHAS & & dod F0s°

DN $EHyeore GOl ?

(1) 9. 928 ©d, d58.56,5.08. Soes
(2) . ©9,8.95.5685,5,8. 3. B
(3) AR.HaS ©d,IN3.45,8. I, HB8E,5

(4) AR HeS 0,378, . Hoe:e, 8. . 685,5

Who among the following were members of the |

Constituent Assembly of India ?
A. Annie Mascarene

B. Dakshayani Velayudhan

C. Ammu Swaminathan

D. Sucharita Pandit

Choose the correct answer :

(1) A,B&Conly

(2) B,C&Donly

(3) A,C&Donly

(4) C&Donly

&3 806 7°0S8° DB Teeg0il NT°yes B3 S° dghseorr

&0&TD ?

o 539,88
EcHe SerdinsS
93300y FeEOTER

o N w »

. %588 Ho&E

338 2352080 0THE osko:
(1) A,B&CSr@d

(2) B,C & D $r@d

(3) A, C&D Sr@d

(4) C&D SrEad
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5S.

= 56.

Match the following Women Chief Ministers
with their respective states :

Women Chief Minister State
A. Sucheta Kripalani 1. Goa
B. Nandini Satpathy 2. Assam
C. Syeda Anwera Taimur 3. Uttar Pradesh
D. Sashikala Kakodkar 4. QOdisha
5. Mabharashtra
& 80b Hree opgy Kooy 0 U°§{°Q)§S

238 5B !

Sodeer Soggod oego
A BB EHed 1. &%
B. %08Q:58)8 2. o>
C. Bhoe o8 Bord 3. &85 Has
D. 388 88°,6 4. ebar
5. foegy

Choose the correct answer :
38K 2352208 0HEKoskw:

(1) A-3;B-4;C-2; D-5(2) A-5;B-2;C-3; D-1
(3) A-3;B-4;C-2;D-1(4) A-4;B-3;C-1;D-5
Good governance aims to bridge the gap between
power and people. An important aspect in this
direction is the responsiveness of the government.
Which of the following strengthens responsiveness ?
Evolving and abiding by a Citizens’ Charter
Redressal of Public Grievances

Review of Laws, Regulations and Procedures
Competitiveness in politics and electoral
process

E. Transparency and Right to Information
Choose the correct answer :

(1) A,B&Conly (2) A,B,C&Eonly
(3) A,B,D&Eonly (4) A,C,D&E only
OSPE0-Rue ks ©oSTR) é{‘}oiﬁéfn L8RS

oFs0. 88 B3’ 500955308 @00 [FEDS R B0ES.

&2 808 TBS® (D805 OBBID D ?

A oo TEHD D50 Bodhko, w8 Separlt
&0e0.

Sowp

ez HTeghe HOBouEo.

é&g@, Qaroden, Apeareo éﬁbéoiﬁcﬁo.
radairen, AQEe HEohoS® PBES0.
FEEEES, SETS o8,

8K 2352208 D0HEKoskw:

(1) A, B & C Srad

(2) A, B, C & E &mssh

(3) A, B, D & E Sm&h

(4) A, C,D & E &

mo 0w

MASTER



57.

58.

MASTER

jwX@Yveles

S aw >

What is the reconfigured pedagogical structure of §
school education system in the New Education |

Policy - 2020 ?
A. Replacement of present 10+2 system with
5+3+3+4 system.

. Replacement of present 10+2 system with i

B
4+4+3+4 system.

C. The system consists of foundational,
preparatory, middle and high school stages.

D

. The high school stage is subdivided into two:

9 & 10 in the first and 11 & 12 in the second.
E. There is an option of exiting at Class 10 and
re-entering in the next phase.
Choose the correct answer :
(1) A,C&Donly (2) B,C&Donly
3) A,C,D&Eonly (4) B,C,D&E only

Er8S Qoey eR0-20208° Fdwe Doy HEY |

98B0 BRES £55S DoeyEao D ?

A (98 10+2 dprdo $08 5+3+3+4 Qpsod
S8y Bodadod.

B. &8 10+2 doedo o0& 4+4+3+4 Qaedodh i
L) Boha&od.

C. & éggéé) D, ITRPE, s, e i
FrEF0 S0 BOA G0N0 .

D. ?W&GEBO&) BEen: 9 & 1030383, 11 & 12
Bo&S Bdenrr QefBosadod.

E. 10 $ $5588° d5yfo0d, S50 $36° 80h ¢
3803 w0 Eeth.

38K 23522080 D0HEKoskw:

(1) A,C&D&rES  (2) B, C & D &rEsh
(3) A, C,D & E & (4) B, C, D & E Ss$ad

Which of the following are considered as the ways of }

preventing and redressing the abuse of power ?

. Subjecting power to the threat of sanctions.

. Obliging it to be exercised in transparent ways.
. Forcing power to justify its acts.

. Allowing media into decision/policy making meetings.

Choose the correct answer :
(1) A &Bonly (2) C&Donly
(3) A,B&Conly (4) B,C & D only

5808 S D ©HEE 58I Ao, el |

S5R39 S0, T8 SrrTrenrr S0re0tS wtieron ?
&0 805w BOBODE SPassto.

©BSPTRY FPBEE B O 0w BANTRS Epiis S8, §

Ditel{o) ézﬁ:c@%é: (’:9@5"@&)&83636&@0 Dodho.
AWES SN,  ABD BEORICLISIS
5o eodh&osio.
38K 23522080 D0HEKoskw:
(1) A&B&RED  (2)
(3) AB&C&eED (4)

C & D &
B, C & D S

Qo8 i
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59.

- 60.

The PM-KUSUM Scheme was launched by the
Government of India in 2019. It is a part of
which of the following ministry ?

M
2
3)
“

Ministry of New & Renewable Energy
Ministry of Family & Child Welfare
Ministry of Social Justice

Ministry of Forests, Environment and

Climate Change
PSS (HehS0 B o — HHS HEBod 2019¢°
Er5090D08. 38 85 808 & 0@ ast erirfo?

(1) Y 8 S5 ©0& TdogdaoS A

(2) 2R @g::bé) ©of B 385

3) ‘é SEMASES

(4) 2P S 3T, Ao°S0e5 ok 33)&5 Fof
Anti-corruption measures of the Central

Government are the responsibility of :
A. The Central Vigilance Commission

B. Administrative Vigilance Division [AVD]
in the Department of Personnel & Training

C. Central Bureau of Investigation [CBI]

D. [Intelligence Bureau [IB]

Choose the correct answer :

(1) A,B & Conly

(2) A &Bonly

(3) A,B&Donly

(4) C&Donly

Bo (HahBs @B DB5E $sen N6 eresss :

A, BoEREBT) 80N

B. 208, 3%n derro 6% o8RBT J9BS,
&Qess [AVD]

C. 20»S arst® o a3Rnas [CBI]

D. 50&98ER)awss® [1B]

038 2252208 D0HE Kosm:

(1) A,B&CSr@d

(2) A & B Segad

(3) A,B&D SrEad

(4) C & D s



61.

Match the following Bills/Amendments passed
by the Parliament in 2020 with their respective
Ministries :

Bills/Amendments Ministry

A. The Occupational Safety, 1. Finance
Health and Working
Conditions Code, 2020.

B. The National 2. Labour and
Commission for Allied Employment
and Healthcare
Professions Bill, 2020.

C. The Insolvency and 3. Personnel,
Bankruptcy Code Public
(Second Amendment) Grievances
Bill, 2020. and Pensions

D. The Companies 4. Health and
(Amendment) Bill, 2020. Family

Welfare
5. Corporate
Affairs

20206° FSDotn eIrso PodS G (Bob
Denen /3580 T K02088 Ho@F; Tpos’
228 HEHK0:

Denen /858eaen S0 3o
A BOBHRAIS P, T>§ 1. PR,
20§ $8)00 Eo&AR)
§°%, 2020.
B. &3%8S 808 96 2. Sobwok
@?E ®0f 3r¢ 86 DOTPCHDOES

S, HS, 2020.

C. &aB @0k 3. DS, 58
@088 90 8% (80 IS 00k KK
@058 ) S, 2020.

D. 88058 (007085) 4. I°S @0k Frnd
8¢, 2020. 365

5. B3 @b,

Choose the correct answer :
{BK 23572208 D0HER0am:

(1) A-2;B-4;C-1;D-5
(2) A-3;B-2;C-5;D-1
(3) A-4;B-3;C-5;D-1
(4) A-4;B-2;C-1;D-5
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62.

63.

The River Cities Alliance (RCA) launched in
February, 2022 aims to provide the member
cities a platform to discuss and exchange
information on the vital aspects for sustainable
management of urban rivers. Which of the
following cities are part of the RCA ?

A. Ayodhya B. Delhi C. Hyderabad
D. Rishikesh E. Udaipur

Choose the correct answer:

(1) A,B&Conly (2) A,C,D &E only
(3) B,C,D&Eonly (4) A,B,D&Eonly
056 285 wodF) (RCA) 2@s6 20226°
@r8odosadod. b éc‘gsa e ?gtﬁ@«‘é QY sseadd
K020600 dog B ®oFeR 19800, J3eTeTel)
BB [OSTETR8 Kl oo ad 08
wodosto & og0.& 8od >8S* d Siioren
RCAS® grifore ésamyom?

A O&R B. &9
D. 028§ E. 65D °6
038 2252208 0HE Kosm:

(1) A, B & C SrEs

(2) A, C,D & E &

(3) B,C,D & E&Sr@d

(4) A,B,D & E &5

C. 3edorerd

Which of the following aspects are considered as

the social accountability initiatives ?

A. Centralised bureaucratic planning
policy formulation.

B. Citizen’s Charters.

C. Community score cards.

D. Participatory expenditure tracking.

Choose the correct answer :

(1) A,B&Conly (2) B,C&Donly

(3) A,B&Donly 4 A,B,C&D

& 8ob TBS® O women IR waranmedES

and

FPESenre HoKBosadaron ?

A. éo@ép)é ©B5S (HedE, Ded Sre@ESeeen.
B. 38 8.

C. S5m0 R85 sthen,

D.  griidryiog S5ad HBsSGee.

038 2252088 D0HE Kosm:
(1) A B&C&eEd (2) B,C&D Segsd
(3) A B&D&rE (4) A,B,C&D

MASTER



64.

What is TS Globallinker ?
A. Tt is a digital networking platform.

B. Itis an initiative of T-Hub.

C. It helps MSMEs contact global buyers and

sellers.

D. As per Socio Economic Outlook — 2022, a
total of 7,000 SMEs from Telangana have

registered on the platform.

E. It collaborates with the Confederation of

All India Traders (CAIT).
Choose the correct answer :

(1) A,B&Conly (2) A, B,C&Donly

(3) A,C,D&Eonly (4) AB,C,D&E

TS fEa®058 edm 3 ?
A. 3028830 5&556&05 5:65_ 3"5&.
B. 28 T-58 S°88.

C. 16 MSME o% (‘feaeﬁ R enmrden,

DESK FoEB0BEOS® SBeHHEH0G.

D. Boorrer Fadr d8TednE Bens§ — 2022
doesedo Jwgo 7,000 SME en & aeS 306,

& 535 Fedoommyan.

E. o8 35008 o8 o goddir @56) (CAIT)

& 5588008
{8 2352208 D0HEKoskw:
(1) A, B & C SrEs
(2) A, B,C & D SwEsh
(3) A,C,D&E Sr@d

(4) A,B,C,D&E

MASTER

E
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65.

The Telangana Electric Vehicle & Energy
Storage Policy 2020-2030 provides 100%
exemption of road tax & registration fee for
different variety of electric vehicles upto certain
number of vehicles purchased and registered in
Telangana. Match the following types of vehicles
with their limits of exemptions :

Type of Electric Exemption upto
Vehicle
A. Two Wheelers 1. For first 20,000
vehicles
B. Three-Seater 2. For first 10,000
Auto-Rickshaws vehicles
C. Buses 3. For the first
2,00,000 vehicles
D. Private Cars 4. For the first 500
vehicles
E. Light Goods 5. For the first 5,000
Carriers vehicles
6. For the first 12,000
vehicles

Boorrer JofE 3erES) & 8 TS Sred 2020-
2030 Boorred® it B, SRR D25 VG
Q088 e 8K Vopss® B $y, BRJBS
See® 100% DoLd5BonoHdo ©odnod. & 8ob
Ero edrared o8 IPonoNe B
23858 Hd0:

a®§§ TSRk 880 FSBowo) HOWS
A BB aeseoren 1. 2w 20,000 0
PEPTOL
B. @38e¢Bzren 2. 3w 10,000
VARSI
C. adpw 3. S 2,00,000
PEPTOL
D. &858 % 4. w3 500
VSOOI
E. B8&5r&) 5. 3w 5,000
52500900y TR0
6. o3 12,000
PEPTOL

Choose the correct answer :
{8 2352208 D0HEKoskw:

(1) A-3;B-4;C-6;D-2; E-1
(2) A-3;B-1;C-4; D-5; E-2
(3) A-6;B-3; C-2; D-4; E-5
(4) A-6;B-1;C-2; D-5; E-4



66.

67.

68.

Which of the following projects aims at
improving dietary diversity among tribal children
and women ?

(1) Giri Arogyam (2) Giri Poshana

(3) Giri Bhojanam (4) Giri Samatha

& 800 &S N Dy, Jos® B FdeesY
otorH BB BT FEE V6 ?

(1) AB et (2) ~O B
(3) AB S0 (4) PBBHS

The Social Innovation Policy of Telangana is
driven by which of the following ?

(1) Empathise, Inclusive and Empower
(2) Innovate, Produce and Market

(3) Educate, Innovate and Enterprise

(4) Collaborate, Innovate and Transform

& 808 & @0z o Beorrer RS aTHINS :

o HITK0H?

(1) QoHBE, BOEPAS, V0DNG
(2) =I5, @R, $70)e5
(3) DEES, 9IS, dowd pd
(4) TG, a)3E, ErK)°5,

In Yasangi 2021-22, around 63 lakh farmers
received investment support under the Rythu
Bandhu scheme. Arrange the following
beneficiaries from lowest to the highest based on
the number of recipients :

A. BC land owners
C. ST land owners  D. Other land owners
aSdoh 2021-22 &° 3 @0 HEBo 8ol D)
63 ofo ZHw epad HEH Fowd. (HErdo
Sogy egrdon 808 ofmrdods 0 ol 8D
B0ggEd 9508 )850:

B. SC land owners

A, DR & chessioedoen

B. Q0 g odessdeoen

C. D& s odhazdmdoen

D. 288 80e chasdmdoen

Choose the correct answer :

038 22522088 D0HE Kosm:

(1) B;C;D; A 2) B;C;A;D
3 CB;D;A 4 B;A;CD
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69.

Consider the following statements regarding
inclusive policies for older persons :

A. Rashtriya Vayoshri Yojana (RVY) provides
physical aids and assisted living devices to
senior citizens.

B. SACRED portal was launched for the
reemployment in dignity for the senior
citizens.

C. The Government provides financial
assistance directly to the senior citizens
through an open invitation on Seniorcare
Ageing Growth Engine (SAGE).

D. Atal Pension Yojana (APY) in open to all
citizens of India between 18-40 years of age
and administered by the Pension Fund
Regulatory and Development Authority
(PFRDA).

Choose the correct answer :

(1) A,B,C & D are correct.

(2) A, B & D are only correct.

(3) B, C & D are only correct.

(4) A, C & D are only correct.

253(503@ @oééc'@;cﬁé Apraredd (Inclusive policies)

5020800 B gz HO8D0P0s:

A, Tr{ds $@rE Gresd (RVY) BAHE o
F8E JLBHzeeky, JBHE B58H08Toek
©OSER0B.

B. 3205H6 28egdH FESHSor 867 &0
gosto  &%%o  SACRED  2¥¢S
@rEodoSadod.

C. 52056 86 Do (& mozS (SAGE) D
adrdor esflo wegoe 49058 ISEIE
SBreEehE0 O $ER) ©0d08.

D. 18-40 $od&tre Dy $oHldy Ko grds
PHeosed oud IS @rwd  (APY)
©oHerens®  Gotnod. HAD 33235 Ho&
35868 @0k BSoShos ©eree3 (PFRDA)
Q B3 0H.

{8 23522080 D0HEKoskw:

(1) A, B, C 00 D $359.

(2) A, B&r@Esd D Sr@ah $359.

(3) B, C &rEs D SrE $3359.

4) A, C&r@sd D Sro@sh $3859.

MASTER



70.

The Transgender Persons (Protection of Rights)

Act, 2019 defines a transgender person as :
A. Trans-men and Trans-women

B. Trans-women only

C. Persons with intersex variations

D. Genderqueers

E. Persons with socio-cultural identities, such

as Kinnar and Hijra
Choose the correct answer :
(1) A, C&E only
(2) B,C,D&Eonly
(3) A,D&E only

4) A,C,D &E only

€S Botb She (8 Sge) $4o 2019, &r§)

BoEEKn & Deforr A0 :

A PR -, EPR) —HS

B. 78 -8 SrEsd

C. =008 5y dgegen SOAS S5en
D. 2o&6 4§,

E. 855, tree $08 FEras, Fox B8 HBod

e 580e0
338 225208 0THE 0w
(1) A, C&E $r$d
(2) B,C,D &E Segad
(3) A,D &E S

(4) A,C,D&E Sr@ad

MASTER
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71.

Consider the following in relation to the
complaint of sexual harassment under “The
Sexual Harassment of Women at Workplace
(Prevention, Prohibition and Redressal) Act,
2013 :

A. Any aggrieved woman may make, in
writing, a complaint of sexual harassment at
workplace.

B. Complaints can be made to the Internal
Committee if so constituted, or the Local
Committee.

C. Complaint should be made within a period
of three months from the date of incident.

D. In case of a series of incidents, complaint
can be made within a period of four months
from the date of last incident.

E. Where the aggrieved woman is unable to
make a complaint, her legal heir or such
other person, as may be prescribed, may
make a complaint.

Choose the correct answer :

(1) A,B&Conly 2) A,B,C&Donly
(3) A,B,C&Eonly (4) A,B&E only

“H et “ée)?._) BoAs Fooden (dar8es,
Vo, B6BFB0) Sea0, 20137 8ois BoA JoowHe
30508 S000H00 &8 Bod R (rothdm :

A B8 Hdree ST DY B0t BoAs

3pode  HBoD  TEFEEEore TR
SehSyo.

B. e83¢ domen adds 0osss s0d8 due
Sp 8 E0t38 B> Bahisyo.

C. 30063 230A8 Sooetd Joo 25235&65 HTD
B5rD.

D. 3%% H0650 DHcHost, D56 [Sosnerd e:8AS
B0 208 T Joo 69325{;‘)68 QTE5eH
BBy

E. 208 § 85 oo BahBd $godt, &3
BE8 TS0 T KrDoDS BBY B8 Sowyed
B,

38K 23522080 0HEKoskm:
(1) A, B & C SmEs

(2) A,B,C&D &r@

(3) A,B,C &E Sr$ad

(4) A,B&E &r@d



72.

Match the following Institutions with their :
locations : :ﬁ
Institution Location

A. National Institute for 1. Kolkata !
the Visually ‘
Handicapped

B. National Institute for 2. Dehradun
the Empowerment of

Persons with
Intellectual Disabilities

(Divyangjan)

C. National Institute for 3. Bengaluru
the Orthopedically i
Handicapped

D. National Institute for 4. New Delhi
Mental Health and
Neuros Sciences

5. Secunderabad ;
&3 1800 Sogo o9 &) FroBo&® sdEHsm:

So

[N

@Podo !
A IS aRerE 568 1. Sy
3)&3:5@ Kﬁgo&@g@&

B. 656 alRersS 568 2. RS
205560l 65 55,5,
28 2068856 ,
829085 (baegorias)

C. 5SS adRers5H66 3. Borgrdd ?
68 288D HH08ssHE

D. J656 oyt $6 )
DotdS 3G @0k &gt i
RN i

5. 28omrerd

Choose the correct answer :
38K 23522080 D0HEKoskm:

(1) A-4;B-3;C-5;D-2
(2) A-3;B-1;C-2; D4
(3) A-2;B-5;C-1;D-3
(4) A-5;B-4;C-2; D-1
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74.

The Scheme of Development of Particularly
Vulnerable Tribal Groups (PVTGs) covers which
of the following ?

A. It covers 75 identified PVTGs in India.

B. It covers the activities like housing, land
distribution, land development, agricultural
development.

C. It covers social security including Janashree
Bima Yojana.

D. It is implemented in 18 States and Union
Territory of Andaman & Nicobar Islands.

E. The Scheme is rigid; the states are allowed
to implement the Scheme on the items
identified by the Centre alone.

Choose the correct answer :

(1) A,B,C&Donly (2) B,C,D &E only

(3) A,B,D&Eonly (4) A,C,D&E only

BEE DSyo Aded e (PVTG o) 0,0

D80S PRI & Bod PBSE D ?

A. gr58G808® 75 198035288 PVTG en &% grifo.
B. fy5logmo, o Hobed, o odN0,
5?3:531’0‘50135353@ 08 8yESmen &ASE grifo.

C. 358 B0 Qe 88 58 skt 5658 S emifo.

D. 623 18 ooghen, Bols POS PoB0 WOLITS,
8%er6 &ed® wien Fhoys.

E. & 880 éﬁé@é&, gde0 éo@o favlSTotAN
0TV BA ToFPed ©en VAP &otnod.

3038 22522088 D0HE Kosm:

(1) A,B,C &D @ (2) B,C,D &E S5

(3) A,B,D & E @ (4) A, C,D&E &

Arrange the following poorest economic strata of
Indian society from the lowest to upwards based
on their income levels as per the NITI Aayog’s
Social Inclusion Sector Report July, 2021 :

A. Scheduled Castes B. Other Backward Classes
C. Scheduled Tribes D. Muslims

08 s@rf S aogas 256 6§ @@ 2021
P80 emed @;cm@ o gr8H%H
$kmes0e® & 8o DS @Qé Beaneid 85 $Ho8
28 29508 ym:

A. chﬁjvgge; Beren B. 188 308085 88K&en
C. W@ dien  D. Lodewoen

Choose the correct answer :

338 225572080 0THE osdo:
(1) D,A,C,B 2) A,C,D,B
3) CAB,D 4) A,CB,D

MASTER



75.

76.

77.

More than half of all multi-dimensionally poor
individuals in India live in the following states :
A. Bihar B. Jharkhand C. Maharashtra
D. Madhya Pradesh E. Uttar Pradesh
Choose the correct answer :

(1) A,B,C&Eonly (2) A,B,D&Eonly
(3) A,B&Conly (4) A,C,D &E only

FEERE0S @508°e DS aears® 8 pre &

8od U°§°e)e§g Q50T B0 -

A, D6 B. &0k

D. $5038 E. 688056
338 2252088 0HE Kosm:

(1) A, B, C & E &5 (2) A,B,D & E &
(3) AAB&C&rEd  (4) A, C,D &E SoEh

C. Hoisog

Kollipara and Kuruvagatta inscriptions tell us

about :

(1) History of Vemulavada Chalukyas

(2) History of Satavahanas

(3) History of Kakatiyas

(4) Expeditions of Gautamiputra Satakarni
SEIvleN BBBNE ToOToe0 I B BenHeeom :

(1) SEoeaed aehdye $6E

(2) BETTdo S0

(3) =88ce SBE

(4) TELYBTSEL SorasrEen

Satavahana inscriptions record the existence of a

number of craftsmen in Telangana region. Match
the following craftsmen with their occupations :

Craftsmen Occupation
A. Kularikas 1. Stone polishers
B. Manikaaras 2. Potters
C. Mithikas 3. Weavers
D. Kolikas 4. Iron-workers
5. Jewellers

FETTHe TITn Boorrer @osost o
08 8 Sgrsedio 68D ST Daeow. K Bod
5 Ssetheits 70 Hy%08d aEBsHbm:

PR geseHen SyHen

A, Hebdden 1. o8 FORFdardd
B. SdsHhen 2. Bodoyen

C. o8& 3. B8>S

D. &893 4, 35050 HAFD TS

5. SKen T S

Choose the correct answer :

{8 23522080 D0HEKoskw:

(1) A-2;B-5;C-1; D-3 (2) A-4;B-3;C-5; D-1

(3) A-5;B-2;C-4;D-3 (4) A-3;B-2;C-5;D4 :
MASTER
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78.

79.

Which of the following “siccas”/coins were used
during the Asaf Jahi period ?

A. Hali Sicca

B. Mahbubia Sicca

C. Mali Sicca

D. Osmania Sicca
Choose the correct answer :
(1) A,B&Conly

(2) A,B&Donly

(3) A,C&Donly

(4) B,C&Donly

% 806 8S® 0% wbreo eods® &XRPACDS
“Q5P)en /THBe0” DR ?

A 5ORE,

So5Pardcd 1),

Joe® 9c0§27

S 0w

&R ),

0885225702000 0tHE 05w :
)
)
3)
“

A, B & C Ss$sh
A, B & D 3
A, C & D 3
B, C & D &ms$ah

Who was the architectural designer of Osmania
University College of Arts & Social Sciences
building ?

(1) Spanish Architect Andrea Palladio

(2) English Architect John Abel

(3) Belgian Architect Earnest Jasper

(4) Egyptian Architect Ali Khaled Elewa
&R0 At 588 ©F o8 @of LS

VYD P50 ©6)T)5S EFSE S ?
(1)
(2
3)
(4)

oS 68, BE so@dir Herd e
20NN S8 BE &S 28BS
BOAHS ©0,BF IB,F )6

8383 9885 ©d 08 AT



Match following newspapers/magazines with
their respective founders during the Asaf Jahi

82.  Match the following authors with their literary

) texts :
period :
Newspaper/Magazine Founder ; Author Literary Text
A. Asif-ul-Akbar 1. Amjad Ali :
B. Safeer-e-Deccan 2. N. Narayan Rao A. Vallabhacharya 1. Prataparudra-
C. Musheer-e-Deccan 3. Shoebulla Khan ‘ charitamu
D. Imroz 4. Qaza Abdul
Ghaffar { B. Ekamranatha 2. Simhasana
5. Pundit Kishan Rao E Dwatrimsika
059 iro oo & Bod FTH@Een/
C. Kase Sarvappa 3. Ganapathi-

ENlaEANVEVIAY 5);8306:6 TO8° BB DHHw :
FTIBE /SrriEd a;éé)é) devacharitamu

A R5-65-086 1. @02 ed ; D. Koravi Goparaju 4. Kreedabhi-ramamu
«$
B. 3256-2-85,8 2. AR. JPTCHEB T°& 5 Siddheswara-
s
C. Loa8-d-88)R 3. Baer oo charitramu
D. s@rE 4. grer wend Ka°0 i
¢ : & Bob BPowded O Frdy (Horres®
5. Hod& 8IS TR

Choose the correct answer : i sERGDHI -
8B 22520 DOHE KL :

! ooV} F8r&g (fogo
(1) A-3;B-2;C-4;D-5 i
(2) A-2;B-1;C-5;D-3 L
(3) A-:B-3; C-2: D-1 é A, Seogrards . SN 58850
(4) A-5;B-4;C-3;D-2

i B. aseaedd 2. 20588 ey @odE
Which of the following are part of the Gond ;
Tribe ? C. =35 3. Kead@BS $56850
A. Raj Gonds B. Madia Gonds :
C. BhonslaGonds D. Khatulwar Gonds D. &5 /KSHooe 4. émé}@:ﬁ;:ﬁm
Choose the correct answer : ;
() A, B&Conly (2) A ,B&Donly 5. B SoEED

(3) A,C&Donly (4) B,C & D only !
& 800 BS® [0tk BNS® grifo @and % JHEH? |

A. oo foen B. &chAtoten !
C. eﬁ’so§ﬁ806§3w D. aaéoa@ﬁﬁsocﬁae» E

Choose the correct answer :

338 2252080 0THE s

338 225208 0THE 0w (1) A-5;B-3; C-4;D-1
(1) A, B & CSrEs
(2) A,B&D SrEad
(3) A, C&D SrEd
(4) B,C & D S

(2) A-2;B-4;C-1;D-5
(3) A-3;B-5;C-1;D-3

(4) A-4;B-1;C-5;D-2
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83.

84.

D. &doro8 o )

Match the following books and authors :

Book Author
A. Tokkudu banda 1.  Annavaram
Devendar
B. Mankamma Thota 2. Gogu Shyamala
Labour Adda
C. Jeevitam Oka 3. T.Krishna
Udyamam Murthy Yadav
D. Enuganta 4. S.V.Satya-
Tandrikanna narayana
Yekulabuttanta
Talli Nayam
5. Joopaka
Subhadra

800 Hdzeen 8 Sondest 50 0l:

5550 S50
A, &% a0l 1. @580 33086
L0858 Sab 2. /4 Bege

TP
[

EdBoad ao 3. &. 8 )R8 SIS

»

DR.9. BT 0ed
ci%aévoawégoé &9
[c%ho

5. eedeE gl

Choose the correct answer :
38K 23522080 D0HEKoskw:

M
2
3)
“)

A-1; B-2; C-3;D-4
A-4; B-2; C-1;D-5
A-3; B-1; C-4;D-2
A-5; B-1; C-2;D-3

Which one of the following is NOT a book
written by Jeelani Bano ?

(1) Aiwam-e-Ghazal (2) Pinjar

(3) Patharon ki Barish (4) Naghme ka Safar
&2 808 Dot Bord S 558 =8 H6?

(1) aoro-d-oed  (2) Howd

(3) %88% &zr8R (4) $hy 896

MASTER

i 87.
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85.

86.

Which among the following castes was NOT
included in the “Ayagar” system during the

Kakatiya period ?
(1) Kummari (2) Kamsali
(3) Komati (4) Mangali

8800 S0 T8 “edirry” HEES° & 8ob
Serost HB 3633365 87?2

(1) &0 Q) Bo®

(3) 58 (4) 00159

In which of the following places did Sarvai
Papanna built his Forts ?

A. Thatikonda B.  Shapuram

C. Geesukonda D. Vemulakonda
Choose the correct answer :

(1) A,B&Conly (2) A,B & Donly
(3) B,C&Donly (4) A & Conly

&8 808 & (Frozred® Jroeion 5K e 9809
e ?

A, B8R B. &H3o
C. Aol D. 3H0e8o
8K 23522080 D0HEKoskw:

(1) AB&C&eEd (2) A,B&D SrE
(3) B,C&D&rEd (4) A& CSrE

Which of following statements are INCORRECT

regarding the Ramappa Temple ?

A. Tt was built by Rudra Deva.

B. Itis a Shiva Temple.

C. Perini Dance Postures are carved in the
Temple.

D. It was declared as a World Heritage
Monument by the UNESCO in 2020.

Choose the correct answer :

(1) A,C&D only (2) A,B&Conly

(3) B & Conly (4) A &Donly

o8 Baredho HB0Y & 8obd BS® HY KK

5o ?

& 3&7"@0‘5&?&)&6}@ 39% Q8007

30 B d%0.

063 Eée)égg BoAdod & 5&?@&3075_)

EOT.

D. & Qarod®dy 20206° ©Hos 888,
Béesore oI, ©ES0N0s.

{BK 2357220080 QOHEKoakw :

(1) A C&D&RSS (2) A, B&C&rEsd

(3) B & C&rEsd (4) A &D SrEsH

A
B.
C.



88.

89.

Which of the following statements regarding

Sammakka-Saaralamma Jatara are correct ?

A. Sammakka-Saaralamma Jatara begins at
Medaram.

B. It commemorates the fight of two sisters,
Sammakka and Saaralamma.

C. Jampanna was the brother of Sammakka.

D. The actual festival begins during the month !}

of Magha, on Suddha Pournami.
Choose the correct answer :
(1) A,B&Conly (2) B,C&Donly
(3) A &Donly (4) B & Conly
B8, ~rore sy erEEE Sow0fod & 8ob et

$859 9D ?

A So% ooty @8 Hwdedd
EPB0F ST 0.

B. ab &%, Jooog), ads BB Loeae
Dorerd) 9380808008 .

C.  =0HK) 08, ReSE.

D.  odo oK Srin Srkod® HE FEDH
J0LS°H08.

{BK 2357220080 Q0HE Koakw :

(1) A B&C&SrEsd (2) B,C&D soEsh

(3) A&DsrEd (4) B & CsrEad

Consider the following about Sufism in
Telangana and identify the INCORRECT
statement :

(1) Kankhas are the Tombs of the Sufi Saints.
(2) Shaik Baba Sharfuddin and Shiabuddin
propagated Sufism during the Qutub Shahi
period.

The Sufi Saints propagated the composite
culture and unity between Hindus and
Muslims.

Dargah of Hazrath Baba Sharfuddin
Suhrwardi is at Pahadi Sharif, Hyderabad.
“Boorrnd®  SrdHonerds” $omodod & 80b

B HOKB0D, EZPE HELDD HB0HOE :

(1) ogren K78 Hi HHHe SErcHen.

Q) $HS riro seos® W wrer BEOHES,
QOB Kb 08 Prdo Be.

8 D8 KHEHHen rotie —smoe S0
S0 K08, DE;ED Pardo Baedh.
s e RS P
TS $558 565 55 65,0,

3)

“)

3)

“)

o5z
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90.

91.

Match the following Films with their Directors :

Film Director
A. Dorasaani 1. Nimmala
Shankar
B. Matti Manuhsulu 2. K.V.R.
Mahendra
C. Jai Bholo Telangana 3. Raj
Rachakonda

D. Mallesham 4. B. Narsing Rao
5. Shyam Benegal

&5 808 DVLKTPOR w63 $5B08® BHEHIM:

DS faleRisilat
AL BB 1. Qe 088
B. é;ég Sododoen 2. 8.9.65. Hraeos
C. 8&° Boorres 3. oo ool
D. é;g%éo 4. 9.38y0f oo&

5. %“’553 BIKE

Choose the correct answer :
{BK 2357220080 Q0HEKoakw :
(1) A-5;B-3;C-4;D-1
(2) A-4;B-5;C-1;D-2
(3) A-2;B-4;C-1;D-3
(4) A-3;B-4;C-2;D-1

‘eVTOL Technology’ is related to which field ?
(1)
)
3)
“)
‘eVTOL

Biofuel Production
Semi-conductor manufacturing
Microbiology

Aviation

088
$022060DD8 ?

(1
()
€)
4)

Soepdo’ @ BoredS
&5 508550 68)8

o8 s 650

g E5ag0

DS AIPS0

MASTER



92.

93.

w >

U 0w »
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Consider the following in view of PSLV-C53 :

Satish Dhawan Space Centre on June 30, 2022.
B. It is the dedicated commercial mission of
Antrix Corporation.

C. The launch vehicle carried three satellites from &

Singapore, namely DS-EO, NeuSAR, Scoob-1.
Choose the correct answer :
(1) A &Bonly (2) B & Conly
(3) A &Conly 4 A B&C
PSLV-C53 &5 & 8ob & 50800 :

A 8d 82 IS R owb (SDSC) &% ¢

Boderon oG Lol aml 302022 8 i

[Sieuslatentntel AN

B. 9B cho@§) &S . Fows® IHES

5‘38%2323 MWAS.

C. 2085r% o0& DS-EO, NeuSAR, Scoob-1 o3 §

TR SR a8 T8 BeosPod.
038 2252088 D0HE Kosm:
(1) A &BSre@ (2) B & C Sr@ad
B) A&CSPES (4 AB&C

On a cold day, during an early breakfast of bread
with Ketchup, one would have noticed that the £

ketchup barely moves out of the bottle. A little }

warming of the Ketchup would solve the

problem. Which of the following statement :

makes sense in the above context ?

. Liquids become less viscous during high temperature.
Kinetic energy of the molecules increases with §
temperature.
Liquid resistance to flow increases with increasing ;
temperature.

. Kinetic energy counteracts the intermolecular forces.

Choose the correct answer :
(1) A &Bonly 2) A,C&Donly
(3) A,B&Donly 4 ABC&D

28 Bl a80d @, 335 worsto 83
$506508°, HJ 08 BSH oddr i TrHEo
BB K50035%0 2BAOL. @and B35 X o 38 &
DD S5By PO BRHB0H. P JorSor 8ob

B O BHELS ©¥Hodore sotwoh?

. 58 GRS Sahod® aren 880 &t SrdEran.
6EEHEE oo 18 38 DSHIHEB.

ISR GEPHBE® (a8 Ped ABEEES BBoID0D. |
. 158 48 0088 wen ered HAHB0H.
LOGH 23572208 HOTHE KoL :

(1) A &B Segad (2) A, C &D &woEsh
(3) A B&D&rEd (4) A,B,C&D

26

94,
A. Tt was launched from the second launch pad of

| 95,

What would happen to earth if the sun suddenly

disappears ?

A. The earth immediately experiences the lack
of sun light.

B. The earth experiences the lack of sun light
after about eight minutes.

C. The earth immediately experiences the lack
of gravitation.

D. The the lack of
gravitation after about eight minutes.

earth experiences

Choose the correct answer :

(1) A &Conly (2) A &Donly

(3) B&Conly (4) B & D only
o805 BT SPAHPB a8 DHH06?

A 2 Fo6S $rdsd0 st idob.

B. & omrd  d0ME Ao
$o05558y0 Btihod.

é§0'°5é§

C. 2 JobR Hhaegdnd 86 %08,

D. & ooEd QO doare
HHEeESead 556380)&)0&.
o)

éU"sé

338 225208 0THE s
(1) A& CsrEsd (2) A &D SrEsh
(3) B & C &rE (4) B & D &rEd

The correct order of velocity of sound in the
media — water, iron, vapour and air is :

(1) water > iron > vapour > air

(2) iron > water > vapour > air

(3) water > vapour > air > iron

(4) iron > air > vapour > water

D%, a05m, E3 @98, O cirsred® 0 Srdd

80220600 KO B!

(1) 5% > a8 > OB 998 > md
(2) 2550 > HH > OB 98 > md
B) 9% > HB &b > red > niosn
(4) 2550 >md >dS =26 > 5%



Match List-1 with List-2 and select the correct § 97.  Match the key-boards with their layouts :

answer using the codes given below : Type of Layout
Key-Board
List-1 List-2 A. QWERTY 1. Vowels on left hand
side and most used
(Defect of vision) (Corrective lens) consonants on right
‘ hand side
A. Myopia 1. Bi-convex lens : B. Dvorak 2. Letters arranged in
. . : square patterns
B. Hypermetropia 2. Bi-concave lens i
i C. Dextr 3. Letters start with Q,
C. Presbyopia 3. Cylindrical lens | W, E,R, T, and so on
; D. KALQ 4. Optimized for thumb
D. Astigmatism 4. Concave- typing
convex lens ‘ 5. Keys in alphabetical
i order
B0t 3D 8% edRTAY, wrdee-1 Jewdee-2 & | &5 Sz 83 oS os® 56208,
B0, SOFH wTeots DoDE WD : 'j § %5 58 BoHS
; A. QWERTY . Q& 38 3D osen
dar-1 dar-2 (vowels), d¥yHme
| SHARA0E TPepen
(8y26%0) (3500T 8080) |
: (consonents) 528 SHS
A @S8R 1. B5-%ogrses S0 i B. Dvorak 2. $HFrEost
5 2508288 @gTeen
B. 28 2. GyRtrsdseso | C. Dextr 3. Q W,E,R, T ol
' B Intsodh oETe
C. degdo 3. Sparsed E08o
D. KALQ 4. Bodff Boof §%0 eE
D. egreyleo 4 HErwS -G | ddbatiod
i
cirso i 5. @58 Sre EHos® dooyen

3oﬁoaac§ 4’ en

Choose the correct answer :
038 2252208 D0HE Kosm:

(1) A-1;B-2;C-3;D-4

(2) A-4;B-3;C-2; D-1

(1) A-3,B-4,C-2,D-5
(2) A-3,B-2,C-5,D-1
(3) A-3,B-1,C-5,D-4
(4) A-3,B-4,C-1,D-2

(3) A-2;B-1;C-4;D-3

(4) A-4;B-2;C-1;D-4
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98.

99.

o wp

Which of the following organizations set the
standards and naming rules to be adopted on the
internet ?

A. The Internet Society

B. International Organization for Internet
Standards (IOIS)

C. American  Association for Internet
Protocols

D. The Internet Corporation for Assigned :

Names & Numbers (ICANN)
Choose the correct answer :
(1) A,C&Donly (2) A,B&Conly
(3) B &Donly 4) A &Donly
©0ST0(B300B)ES & H02060D BHIBOTED
Bmeeen,  Johsros 8o T3S O
ErPonod /Ererobon:

A, B z00B)S R

éoé/@

B. 3000358 escg@ézﬁﬁ $6 wowB)S okl |

(101S)
C. oROES oPRGLAS 96 50ed)Es ¢S sed
D. 8 50&3)5 ST0AS H6 S I%) & Soakb)
(ICANN)
DO 2257220 DoTHE Kosm:
(1) A C&D&PEH (2) A, B & C&rEsh
(3) B&D&rED  (4) A&DSrEs

Match the below products of biotechnology with

their application for treatment of various
diseases/disorders.

Interleukins 1. Treating Haemophilia
Insulin 2. Treating cancer

i 102.

i
k
g
B

i

Tissue plasminogen 3. Treating diabetes

activator :

Blood factor VIII 4. Treating heart attacks and;
stroke ;
Treating leprosy

&5 J08BE DS ééﬂj@&m 0B 0 B BB
TyHe Ardnst  SEGKerdr 6 adwdi.
T FOG HHES® wBHESTw.

5065 e85, 1. Er3rdddsie D88
BN 2. %6 088,
Beaerord cﬁj‘?oéﬁséﬁ 3. Lot aegh D8
©8366

8% 5885w VIII 4. Koaden D8,

5. éxg EIINRALA
Choose the correct answer :
DOGH 2257220 DOoTHE Ko :
(1) A-5,B-3,C-2,D-4 (2) A-4,B-3,C-1,D-2
(3) A-2,B-3,C-4,D-1 (4) A-2,B-4,C-3,D-1

MASTER

§
H

28

100.

101.

IT Kharagpur researchers developed eco-
friendly food packaging material with which one
of the following ?

(1) Banana Peels (2) Banana Stem

(3) Cucumber Peels (4) Cow Dung

0.0.8. p8h P& TH & Bod >BSY 3AS°

SoegdBe ©HEre HE  FEoR  SHo
BESSPEHBOTE ?

(1) ©38 &%) (2) ©88seoko
() Sch&He  (4) ©H Dok
Examples of Voluntary Standards (Indian

Standards) adopted based on International Codex
Alimentarius with suitable modifications.

(1) Bureau of Indian Standards & AGMARK
(2) Fruit Product Order

(3) Milk & Milk Product Order

(4) Standards Weights& Measures Act

£ $58e08° 500055 °RE) ©doerdHS

S0 areotd FouGy (208058 i)goéég)
Qoo Tohatean. ©d & ?

(1) e’ o5 20858 Poiby & ©f &8,

(2) @& EPuE el

(3) &) &, @‘Scﬁg @628

(4) Lok Somed), Dexby e

Match the following bases as per their usage :

A. Ammonium 1. Fire extinguisher
Hydroxide

B. Sodium 2. Bleaching powder
Hydroxide

C. Calcium 3. Soap preparation
Hydroxide

D. Aluminium 4. Removing grease
Hydroxide stains

B oo a8 DARH0 ErSorr a8H5Eo8.

A o3P0 TEEEE 1. ©fErds FSo

B. B&sho 386 2. Dok s

C. =9u%o0 zrE8E 3. ey Sased

D. ©orihcHo 4. fer o880
FalMENA EXOTa o9

Choose the correct answer :
DO 225722080 DOHE K0!

(1) A4 B-1 C-2 D3
(2) A-4 B3 C-1 D=2
(3) A-4 B-3 C-2 D-1
(4) A-4 B-1 C-3 D=2



103.

104.

Consider the following statements in view of

rusting of Iron :

A. It is chemically named as Iron Oxide.

B. Rusting is considered as a chemical change.

C. Zinc is coated on iron articles to prevent ;
them from rusting.

Choose the correct answer :

(1) A &Bonly (2) B&Conly

(3) A &Conly (49) A,BandC

a0 PP deKo Syaks S Bod gl

588905084,

A B BrcHB oo w88 BB

B. &ifp Hhfo GIHIE Setym @m0l
006 .

C. & dy%ow =Hs $0Hep BoH s
.

038 22522088 0HEKosm:

(1) A &B Segad (2) B & C &g

(3) A & C s 4) A B&C 5

With reference to the isotopes of elements,
consider the following statements :
A. The isotopes of cobalt are used in the
treatment of cancer.
B. The isotopes of iron are used in the
diagnosis of anemia. 5
C. The isotopes of uranium are used as fuel in i
nuclear reactors.
D. The isotopes of iodine are used in the
treatment of Hepatitis A. :
Choose the correct answer :
(1) A &Bonly (2) B & Conly ‘
(3) A,B & Conly 4 A,B,C&D i
oo oS 0B $o2080D), Bobd g
HBKeBoSob

A. 5835"25 oBeEH ok S"é?@(\)g Qééﬁg@s
ESDPAFE. ;
B. s:05m oR8ets o 85irss $65sE
EHRPATD. ,
C. cBRcbo RPS o om bagse’
SoBHOTe GHRPAIE. ’
D. o@raS oS o HBBER- 288)S°
SHEPATD.
38K 23522080 D0HEKoskw:
(1) A&B&RED  (2)
(3) AB&CERSD (4)

B & C £mo@h
A,B,C&D

29

105.

106.

= 107.

108.

O 0w »

Before transfusion of blood, every unit of donor blood
is NOT tested for one of the following diseases :

(1) HepatitisB&C (2) HIV

(3) Cancer (4) Syphilis

88 5038 00, rd B (KO8 S0 A 8od

sos® 3R 8560 9880 extsesd ?
(1) 5BESD&D  (2) 50D
() =55

(4) 220%
‘Graves disease’ is caused due to excess

production of which of the following hormone ?
(1) Parathormone (2) Insulin

(3) Thyroxin (4) Growth hormone
5808 O SBES © 00 68)8 sSwore [&y 50
306 ?

(1) oot (2) =598

(3) &S (4) (6 55
Mother’s breast milk provides immunity to new-
born babies because it contains :

(1) Immunoglobulin E (2) Immunoglobulin M
(3) Immunoglobulin A (4) Immunoglobulin G
89 BPmy aren JHerd BHHed SRS ¥8
©0BF o, oo mohe® sodd:

(1) =80 FP0dSE  (2) amSHendS M
(3) aoTAwOS A (4) wosSA0dS G

Consider the following in relation to the ‘Monk
Fruit’:

. The monk fruit is known for its properties as non-

caloric natural sweetener.

Originally the monk fruit is cultivated in China.
The cultivation of monk fruit is taken up for the
first time in India in the state of Himachal Pradesh.

. The cultivation of the monk fruit in India is

supervised by the Institute of Himalayan Bio-

resource Technology.

Choose the correct answer :
(1) A,B&Conly (2) A,C&D only
(3) B,C&Donly 4) AB,C&D
‘008 Hoo’(Monk fruit)d Sowodod & Bod

D (§2P0HED -
Z0bendd S 8% oferen SR ofitost ahd
D00 @?o@.
RS $H Heo ForH Bars® wdirhEod.
FPESEE oS 0HB Here JrH FOWO SPSTSS Hrs &°
DG,
PESTE0SE 0H® Here ;v ey ©h
EREPOHE BGR B, Beed o HEPEHTD.
038 225°20000tHE 8w
(1) AAB&CSRED (2) A, C&D Smgad
(3) B,C&D&rE$s (4) A B,C&D

MASTER



109.

110.

Match the following :

Tree Usage
A. Ashwagandha 1. Medicine for Blood
Pressure
B. Sarpagandha 2. Medicine for Jaundice
C. Nela usiri 3. Medicine for Nervous
weakness
D. Brahmi 4. Medicine for Abdominal :
pain
5. Improves memory
&2 808 B 228HKHNW ¢
Be -slevulatel
A, ©8yi08 1. 8% &Fendd oot
B. 38yK08 2. =Y 508 oot
C. Jo&dd 3. $ore wedrdEs Hokh
D. @edey 4. B )8 $r0

5. 208 E8 Podrofobo

Choose the correct answer :
DO 2257220 DoHE Kosm:

(1) A-1,B-2,C-3,D-4
(2) A-3,B-1,C-2,D-5
(3) A-5,B-4,C-2,D-3
(4) A-3,B-1,C-2,D-4

Match the following Covid-19 vaccines

according to their nature :

List-1 List-2

Pfizer Plasmid DNA
Covaxin Inactive Vaccine
Sputnik-V RNA Vaccine

. Zykov-D 4.

1.
2.
3.

SOow»

wBHEL08.
erdar-1 rdar-2

P & ISR

Q2posreesys dee

68 5 O &z

OBTZER errds S

—_—

2esd
>0
S)8E-V
a88’5-D

Choose the correct answer :
DO 2257220 DoTHE Kosm

(1) A-4 B-3 C-2 D-1
(2) A-4 B2 C-1 D-3
(3) A-3 B2 C-4 D-1
(4) A-3 B-4 C-1 D=2

o 0w >
BN

MASTER

E

Adenovirus based Vaccine ¥
8008 DE-19 T8 Qo 8 derdo eprdore
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111.

: 112,

S o w »

What is “Happy Hypoxia” ?
(1) Is a Hormone released by brain when you
feel utmost happiness.
(2) The feeling of mind when you have
accidentally survived from the death.
(3) The condition where you may not realise
your oxygen levels are crashing.
(4) The condition where you may not realise
your blood sugar levels are falling.
“B8) 3rEr S "o S ?
(1) DB 05008 w@Iomrd) R0 AKBPE
D Deose T &8 B85S
2) % HSwo Hod ehsHom  wachHe
DELIPE 000y V°0T gD
(3) o ©8ad Foven HEPHTHOH ot
K0S 5628
4 o ah Hoyower DENPBHINEHD Dot
H5oR0SB HORS.
Consider the following statements in relation to
the newly developed solar powered survey craft
for ports and inland waterways :
This is developed by the National Technology Centre
for Ports, Waterways and Coasts in IIT Madras.
This is developed by the National Institute of
Ports, Waterways and Vessels, Cochin.
This is an unmanned autonomous survey craft and can
be used to ease maritime traffic even in shallow water.
The Craft does the hydrographic and
oceanographic surveys and provide real-time data
transmission over long distance.
Choose the correct answer :
(1) A,C&D only (2) B,C&Donly
(3) A &Donly (4) B &Donly
8.58%He, @oégé 20 éﬁcnt’e) 66';5 &80 &
@@5@@ Js s 885 %83 (S8 (chogo )
5020600 & odarswswi HBKeoBos :
O 2.0.8 HER $' IS Beed owb H6
5.y, b 3D 00k 5], T 050 DO,
6D TS adRerrsS & Gy, b IS wok
355{3 5“5335 vt @@é@@ DAOTL.
B0 SrSIBERE, J30HoE8DE Ko oy /chogo. &I
SHBD HBS® Sw Sarersdy Degsso Bahmeds
Bt 69GPA05E .
& ©h/dhoo FrEFeRE, LS o8 $iw
Bohiew, DD P80 TPRH-BHH Ter €S
BoShrenthHEod.
{BK 2352208 D0HER0am:
() A, C&D&rED (2) B,C&DSrEsh
B) A&D&SrEZ  (4) B&DSrEd



113.

114.

115.

The dry aromatic roots of which of the following

crops are used to make mats, curtains and fads i

etc. ?

(1) Mint (2) Vetiver

(3) Palmarosa grass (4) Patchouli

Bod 8BS D Hoto G, No&S Dorfoed 3§é}

Soestn, B35 WO aRE S0 > SorbS®
SHRPATD ?
(1) Hbz

(3) eI KE

2) 3855
@) $39®

The Cabinet Committee on Economic Affairs
(CCEA) chaired by the Prime Minister has
approved the increase in the Minimum Support

§
i
f
b
H

Prices (MSP) for Marketing Season 2022-23 for

the following number of Kharif crops :

(1) 14 Kharifcrops  (2) 24 Kharif crops

(3) All Kharif crops (4) 4 Kharif crops
OEPd £0@ ©808% 808 HSFore SOIG

S 2022-23 E78)B0R Sl & i Q) w8
Hoered 8 é)céé) 5805 2000 ?

(1) 149850000  (2) 24209 Hoten

(3) oY pdhdoten (4) 4885 doken

Which of the following are major divisions of
ocean floor ?

A. Continental shelf B. Continental slope
C. Deep sea plain D. Ocean arcs

E. Ocean deeps

Choose the correct answer :

(1) A,B,C&Donly (2) A,B,C&Eonly
3) A,B,D&Eonly (4) A,B,C,D&E
806 8BS JH0EH ©Hrh grrKost  Heesd

Qerrren O ?

A, 083008 2d)

B. ro8T0éd aren
3 koS Poedo
0 SFoHen

E. 38508 eorrgren
{8 2352208 D0HER0am:
A, B, C & D $r@a
A, B, C & E &5
A, B, D & E $mah
A,B,C,D&E

o 0
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i 116.

117.

Which of the following are National Waterways
in India ?
A. Haldia to Allahabad on river Ganga.

B. Geonkhali Charbatia stretch of East Coast
Canal

C. Dhubri to Sadiya on river Brahmaputra.

D. West Coast Canal from Kottapuram to Kollam.

Choose the correct answer :

(1) A,B&Conly (2) A,B & Donly

(3) C&Donly 4) A,B,C&D

&2 800 BS° D 988 BE 0™ B e ETren?

A. Ko 38R o O $0od eeiiferd Srdo.

B. &r8) 835 (@08 seend 68 $@rond SToBD
&ro.

C. @58 30N e (IR Hod SBDH HE.

D. $8y% 850 mensd Fodos® 8 HJo Kod
Eero H8%.

338 2252080 0THE osko:

(1) AB&C&eEd (2) A,B&D SrEh

(3) C&D SeEs 4) A,B,C&D

Match the following Mines of India with their
respective Mineral production :

Mine Mineral
A. Kodingamali, Odisha 1. Copper
B. Malanjkhand, Madhya Pradesh 2. Iron
C. Kunderkocha, Jharkhand 3. Bauxite
D. Bailadila, Chhattisgarh 4. Gold
5. Lead & Zinc

&8 1808 ePBSRE 1% 0 688 T Plered®
238D

ot ez0

A, BQoKsrd, LA 1. oA

B. erof 908, HEpas 2. aksm

C. %006 &%, wgol 3. By

D. Boder, 6%5@5 4. =ormrdo

5. &30, 8150

Choose the correct answer :
038 23572080 0THE osko:

(1) A-3;B-1;C-4;D-2

(2) A-4;B-3;C-5;D-2

(3) A-5;B-4;C-2;D-3

(4) A-2;B-5;C-1;D-3

MASTER



118.

119.

120.

Which of the following is NOT the peak of ; 121. Consider the following statements :

Western Ghats ?

(1) Kalsubai (2) Pushpagiri

(3) Jindhagada (4) Salher

& 1800 B H8)% S0t d9o =08 D& ?
(1) Benyerdo (2) dHYAD

(3) BosKs (4) %86

Match the following Medium Irrigation Projects
of Telangana with their locations :
Project Location
A. Boggulavagu 1. Dharpalli Mandal,
Nizamabad Dist.
B. Gollavagu 2. Pennballi Mandal,
Khammam Dist.
C. Lankasagar 3. Malhar Rao Mandal,
Jayashankar-
Bhupalapalli Dist.
D. Ramadugu 4. Kotepalli Mandal,
Vikarabad Dist.
5. Bheemaram Mandal,
Manchiryal Dist.

& 8ob Boorrns®d Ky 8> 8 FdHide
g% e ngeaé’s 2380w :

>EY 3;:60
A. 23"?"}7)@ T 1. 580 Hokeo, Jepdreard
Sep.
B. o & 2. 289. ooteo,psn0 Sep
C. 08086 3. :5325 o8 Hro&eo,

2098088 -graredd Ber

88359 oo, dzeTrers

e

5. Qw0
00T BeP

D. oesudrd 4,
oo,

Choose the correct answer :
3038 225208 D0HE osm:
(1) A-4;B-2;C-5;D-3 (2) A-2;B-4;C-5;D-1
(3) A-5;B-3;C-4;D-2 (4) A-3;B-5;C-2; D-1

The Sargasso Sea is located in :
(1) North Atlantic Ocean

(2) South Atlantic Ocean

(3) South Indian Ocean

(4) North Indian Ocean
SBEy SdmeSo A& &ob ?

(1) 688 eerods HsHdsmo
(2) &8ss ero3E LrisBHsmto
(3)  5es S0 0BISw 0
(4) 688 3ol 5Pl so

MASTER
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122.

A. The southward shift of counter equatorial
warm ocean current during southern winters
give rise to El Nino current.

B. El Nino phenomena increases temperature
of East Pacific Ocean off Peruvian coast.

C. EINino brings heavy rainfall to coastal Peru.

D. South-west monsoons in India weaken

when EI Nino phenomena takes place.
Choose the correct statements :
(1) A &Bonly (2) B & Conly
(3) A,B&Conly 4 A,B,C&D
80 ae5as0 DB EBosod :

A S8es @cgﬁs@'o@s doroost  Fowb
S:85°000S S0l eRyEaro 8m 3D
HEE0& IS AT Herards HEHos.

B. S AT arho S drd) D28 Sssksns
BT BE0S® GBS DLhrHS08.

C. 6 AT Harsos® H 85 @rosos® b
SBardo HH%ob.

D. r853%08° o8 T Heros® JHa

20EHHIToeD DeSPSHEE .
JOGHS 550 DoTHE Krekn:
(1) A & B Smgad (2) B & C &g
3) AB&CSrEs (4) A B C&D

Consider the following statements :

A. One of the causes of Global warming is
greenhouse effect.

B. The atmosphere absorbs part of the long wave
infra-red radiation emitted by the earth.

C. The gases that absorbs long wave terrestrial
radiation are called as greenhouse gases.

D. Carbon dioxide and Nitrous oxide are

greenhouse producing gases.
Choose the correct statements :
(1) A &Bonly (2) A &Conly
(3) A,B&Conly 4 A,B,C&D
80 ae5as0 HBEBoSod :

GrEear8 88 595600 OB i (AR %) erdo.
TBHEE0, 5P 08 Iende ég BB Hordes
(infra-red) D8Sea0&® &0 erred) (18°K08 .
35288 ég SBormrod @435‘30?:3 TPOHO oS
535 (B8 F°R) arcinider ©oerd.

88 BATBE, SR w8y 88 Ky (AS %)
Berards &S DD,

JOGHS 55D D0THE ek

(1) A &B&rEH (2) A &C&eEd

() AB&CZrEd (4) A B,C&D



123.

124.

125.

Match the important mountain peaks with their
location in the Andaman and Nicobar Islands :

A. Saddle Peak 1. North Andaman

B. Mount Diavolo 2. Middle Andaman

C. Mount Koyob 3. South Andaman

D. Mount Thuiller 4. Great Nicobar
0oldrs, rl HHost &) e B
BPT°0 3063 3;?60@ $0key08.

A. F8S55E 1. 688 ©olsrS

B. &0l ScsrsTS® 2. Hoess 0oiSeS

C. &Pots Sars 3. &8ee ®OELIPS

D. &Fo draved 4. (e 8%erE

Select the correct answer :
389 ééﬁﬁ"@ﬁ)&@oiﬁ)g{;o&:
(1) A-4,B-3,C-2,D-1
(2) A-2,B-1,C-4,D-3
(3) A-1,B-2,C-3,D-4
(4) A-2,B-4,C-1,D-3

Genome Valley in Hyderabad is a :
(1) Amusement Park

(2) Biotech /life science cluster
(3) Ecotourism site

(4) Textile park

3850oerE S5 5% argd 030 & &:

(1) S eoegssso

2) @388 /855,556
(3) =& erdao S

(4) 8585 6,

Which of the following districts of Telangana
has the border with Karnataka ?

A. Vikarabad B. Narayanpet

C. Medak D. Jogulamba-Gadwal
Choose the correct answer :

(1) A,B&Conly (2) A,C&Donly

(3) A,B&Donly 4) AB,C&D
BoormrrS™ & Bod & Sered ETEE KOPEH

BON &= 00 ?

A, Qseoeerd B.
C. 8 D.
038 2252080 0THE oeko:
(1) AB&C&RED (2)
(3) A, B&D&rED (4)

T CHEI D
Srveron-Hoes®

A, C & D &5
A,B,C&D

i
i
i
i
H
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126.

127.

Match the following :

Place Craft/Industry
A. Karimnagar 1. Painting
B. Pochampally 2. Metal Craft
C. Pembarthi 3. Ikat
D. Nirmal 4. Silver Filigree
5. Carpets
808 7 e3EHBS0R :
@06}3 8¢ /50ES
A. 880358 1. onot3oh
B. 53‘5500“@ 2. S Ls@
C. oabd 3. 88
D. 38,6 4. 2058 D
5. &xedHen

Choose the correct option :
DB waend DoHE s

(1) A-1,B-2,C-3,D-4
(2) A-1,B-2,C-4,D-5
(3) A-2,B-1,C-3,D-5
(4) A-4,B-3,C-2,D-1

Consider the following in relation to

Kaleshwaram Project :

A. Construction of one barrage across river.
Godavari at Medigadda.

B. Construction of two barrages between
Medigadda and Sripada Yellampally
project at Annaram and Sundilla.

C. Construction of one barrage on river
Manjeera at Papannapet.

D. Kaleshwaram stabilizes the exisiting ayacut
under SRSP Stage I & I1.

Choose the correct answer :

(1) A,B&Conly (2) A,B & Donly

(3) A,C&Donly 4 AB,C&D

880 ErEHs domofod & 8ob &I

H0K5eBoL0d:

A DERE B Fordd 563 &8 argod Joogeo.

B. oo, od¥ &8 3)&&;5, &> QLOHY
EPEE) oS Both arsCee Aooyso.

C. FHHme 58 odoe S0 a8 wrs0d Aoee0.

D. 8380 SRSP E I & 11 8085 o ey
sahEep HOEBK00.

38K 23522080 D0HEKoskw:

(1) AB&C&eEd (2) A,B&D SrE

3) A C&D&»Ed (4) AB,C&D

MASTER



128. Following question is based on the table given ;
below, which gives the sales of Supermarkets
from 2015-16 to 2020-21.

Bod  ©8) 2015-16 KHod& 2020-21 S8 DG
S8 &rg)So oo JHoT Bod HGEp
SPEHEE0H.
Sales of Supermarkets (in Rupees Crores)
BrHB S8 8 el e (Fes')
Year/ Supermarkets/ 08 35780
dodéy80| Prasanthi/| Krishna/| Mahesh/| Ramya/| Suguna/|;
Wod | 18 | Hord | Sdg | otbes |
2015-16 400 280 320 470 320
2016-17 480 400 400 540 480
2017-18 540 420 580 680 420
2018-19 770 480 | 600 720 440
2019-20] 560 500 840 900 650
2020-21 850 750 790 920 700
In the year 2017-18, what is the approximate '
share of Mahesh Supermarket out of the total :
sales of all the Supermarkets? .
2017-18 $058)80¢°, @y &rHb $rgle Sngo
OSEres® $TeR SNE PSS arer SSEdHm
Q08 oS0 ?
1 19% 2) 21%
3) 22% “4) 23%

129. What will be the next letter in the following ;

series ?
8806 BBS® SHard $3) ©FB0 D& ?
Z,X,S,LR,R,G,?
(1) H 2 K
3) 1 “4 M
130. Point B is 3 meters North of Point A. Point Cis 3 ¢

MASTER

meters West of Point B. Point D is 6 meters
South of Point C. Point E is 11 meters East of ;
Point D. Point E is how far (minimum distance)

and in which direction to Point B ?
(1) 14 m, East (2) 10 m, South-East
(3) 8 m, North-East (4) 8 m, South

B arowoeS, A Jronoei8 ¢Eoed 3 gbéaé ErBos® ¢
&00. C Jeawod, B Jromod 8 H3ykdmes 3 ﬁbéog g
&80t 608, D arowoes C arowoésd B8 6
gbéaé Er808t &0d. E JronodS, D droawods 8 |
&SNS 11 exd $rdos® @od. drowosS E, |

Feonots B & Do SIS Er808t, D St sob ?
(1) 14 &, 8rd) (2) 10 &, orfc%o
(3) 8 &, S0 4) 8&,s8e0
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131.

Study the following graph pertaining to sales
percentage of Branded and Assembled PCs
sold during 2015 to 2021 and answer the
question given below.

Total PCs (Branded and Assembled together)
sold in the year 2015 was 2,00,000 and total
sales of computers were increased at the rate of
10 % per every year.

Bob [ Heos® 2015 Hod 2021 8% [SHUN]
OBk HHIS Bodrsd, ©owd  BHEHIS
Boirstal @0Ere Ere egrdorr BHER God
B8)E Jrerho 3308,

2015 $058,806° @0y @PoRE DS S0P,
0 JEHIS  Bodrgd Fwdo  enEeen
2,00,000. Im8o B0:read @m0t $8 dods50
10% S°RPS D& &0k .

90
80
70
i)
30
40
30
20

10

&~ Branded PCs
EroBs B

B Assembled PCs
oD HB

2015 2016 2017 2018 2019 2020 2021
Year / D0a3e8 Y80

132.

How many Branded PCs were sold in the year
2016 ?

2016 $058,806° I @PoBE DS Bosgrgtodd
T ?

(1) 80,000
(3) 72,000

(2) 88,000
4) 78,000

Each letter of the alphabet from Z, Y, X .... C, B,
A are given values from 1, 2, 3..... 24, 25, 26
respectively. What is the total value (summation
of corresponding values) of the word “ANIMAL
SCIENCE” ?

Z,Y,X ... C, B, A & 8 0508 gHorr
1, 2, 3. 24, 25, 26 Qendod oF6
“ANIMAL SCIENCE” o3 %o &%, 3wgo
Dend (Foadd Dende F0do) Jod ?

(1) 108 (2) 143
(3) 243 (4) 208




133.

134.

Ravi is a son of Anitha’s father’s sister. Sumanth
is the son of Divya, who is the mother of
Ghanshyam and grandmother of Anitha.
Sumanth is Anitha’s father. Ashok is grandfather
of Ravi. Divya is the wife of Ashok. How is Ravi
related to Ghanshyam ?

(1) Nephew (2) Son

(3) Grandson (4) Cousin

8, ol DBwE), o DBwE), WD HIrRHE.
FONCURNY @) 89, BT ISEH
9350950 / T°K0g o0 B Cﬁwéé B85 0008,
25008, ©ABH S0, oFE, 598 @Ech;, BN
OES g8 88, 5058550 B Q)& ?

(1) S Q) THd

(3) SHantd (4) 83

Study the Bar Chart given below to answer the
question.

Sale of the products of three different brands
in five (2001-2005) different years (in Lakh
pieces)

Bob ar8 &) $B8D0D K SSrTHo 8508 .

0t BB TS (2001-2005) Saed Ssre Erogd
Bo@0goNS SRHe wsEren (Shde ogs?)

[OBoB W DI WLIKE

el

2003

2001

2002 2004 2005

What is the ratio between increase of sales of
LIKE from 2001 to 2002 and decrease of sales of
BOB from 2003 to 2004?

2001 Joo& 2002 $8% LIKE eshisee 8ihae,
2003 K08 2004 555 BOB @shsee SHirdise
085 e A& Do ?
(1 1:2
3 2:3

@) 2:1
@) 3:2
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135.

136.

137.

In a code language, “R” = 6, “x” = 8§ and
“PHYSICS” = 33. In the same code language,
“PSYCHOLOGY” will equal to ...

28 B8 gpid® “R” = 6, “x” = 8 Hdow
33 wond oF 8§ RSt
“PSYCHOLOGY” Qendd...

“PHYSICS” =

(1) 49.33
(3) 48.33

) 46.33
4) 47.33

At what time between 7 and 8 o’clock will the
hands of a clock bee in the same straight line but,
not together ?

(1) 5 min. past 7

2

2) Sﬁ minutes past 7
3 .

3) Sﬁ minutes past 7

5
(4) 577 minutes past 7
11

28 K588t 7 Kotred, 8 Kotiod o5 Botd
Soghen &.8 ool e.88 sedhore, $8¢ St AYPE
&0eom ?

(1) 7 Kobre 5 doaren
2

(2) 7 Hobo 577 Aoen
3

(3) 7Howo 577 Qoaren

4) 7 Kot 515—1?\)8)9&%»

Identify the wrong fraction in the following
series :

&od @3St SHpre 68) Do) rhBosod

247 1216 22
371323’ 31° 43
22 12
M 73 @ 33
16 7
G 37 @ 3

MASTER



138.

139.

140.

In a certain code language,

(i) ‘pitnasa’ means ‘you are welcome’
(i)
(iii)
(iv)

‘naho pa la’ means ‘they are very good’

‘ka da la’ means ‘who is good’

‘od ho pit 1a’ means ‘they welcome good
people’

Which of the following means ‘people’ in that !

code language ?

2.8 88 et

(i) ‘pit nasa’ ®0& ‘0» ©8 Iy’

(i) ‘naho pa la’ @08 ‘B ©& 36 HE’

(iii) ‘ka da la’ ©0& ‘& K& HE”

(iv) ‘od ho pit la’ 008 ‘B I, & & HHS

& 808 B HHSE o BE i’ ¥8% $o i

a6 ?

(1) od
(3) ho

@) la
(4) pit

If ‘M’ denotes ‘/’; ‘K’ denotes ‘" ; ‘R’ denotes

i

“+> and ‘T’ denotes ‘x’, then 12 TS M 12R 16 |

K14="?

&§3%‘§ ‘M’ ,/a w; K s w; ‘RO “+ W,‘T’@ ;

X P, e Nep 12 TSM 12R 16K 14 =2

(1) 48 (2) 38
(3 10 4) 20

A, B, C, D, E and F are six members in a family
in which there are two married couples. A is the
brother of B and uncle of F. F is the only child of
D. C is the mother-in-law of D. C has one son
and one daughter. E is the husband of F.Which

£

of the following denotes male members in the :

family ?
A, B, C, D, E 80 F o3 e Sken o el

Sen0206° Both Darer wotoen soow. ‘A’, B
BB, 05w F& SHobdbmsn/ areron. ‘F’,D8

D88 B0@°50.°C”,D8 0. C8 a8 Hdmwded, a8 |

S8 . ‘B, FS 8. 8o 88® Doe
Be022088 1§ $E ek Srdod?

(1) ADE
(3) DEB

(2) ABD
(4) DEC

MASTER
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141.

142

143.

‘From the four positions of a dice given below,
find the colour which is opposite to Red ?

Yol low, /61‘?[1‘[;;0 /Bluc / 0
Orange | @ Violet | & Red |2 Rose | 2
(1) Orange (2) Blue
(3) Violet (4) Rose

B0t ad5dS a8 P08 G, Trenrd PoNde
STPEOM BB AHHE wdLwpore &) BorHo
EoRPK08 ?

. . = )
4] Al . Y )%

ariica | €2 =Tl RS Sy | v fwd ¥i

(1) =Boe (2) deoo

(3) & 4) Herd

Bhushan starts from his house towards west.
After walking a distance of 24 meters, he turned
towards right and walked 20 meters. He then
turned left and moving a distance of 10 meters,
turned to his left again and walked 30 meters. He
now turns to the left and walks 10 meters. What
is the shortest distance between the current
position and his house (in meters) ?

GPNEB 8 8o $0d HEHS T wcdeBTUR.
24 628 8RB0 SEDS Boogs 0B, $5% HETHE
8BA 20 oerdh) ST, Boogs, 08D AEHTIE
88A 10 e $8, He AEHZHDH B6A
30 o6y JE. BIP, ©BH AEHIHBH BOA
10 Soeath JEered. 8% B B0 Kod, BIPH
&) PTR8 o EIR (Yo’ ey (wegs®) ?

(1) 26 2) 34
(3) 44 (4) 24

What is the term in the place of ‘?” in the
following series ?
800 adwas B3t v b;éoés SOEIOVS Hso

DS ?

AYD, BVF, DRH, ?, KGL

(1) GMJ (2) FMI
(3) GLJ (4) HLK



144.

Eight people are sitting in two parallel rows
containing four people each, in such a way that
there is an equal distance between adjacent
persons. In row-1, Asha, Bheem, Chelsi and
Deep are seated (but not necessarily in the same
order) and all of them are facing South. In row-2,

Preet, Qureshi, Raunit and Sana are seated (but

not necessarily in the same order) and all of them
are facing North. Therefore, in the given seating
arrangement each member seated in a row faces
another member of the other row. Raunit sits
second to left of the person who faces Asha.
Sana is an immediate neighbour of Raunit. Only

one person sits between Asha and Deep. One of |

the of Chelsi
Qureshi. Bheem does not sit at any of the

immediate neighbours

extreme ends of the line. Who amongst the

following faces Bheem ?

(1) Preet (2) Qureshi

(3) Raunit (4) Sana

ARG 008 H5Eren, BokH SKTP0BY SIS’ 0.6%%)
S Senihdd THPS 8088 &) H58e i
BEPS Sr80  sotenm  ERE TR, B0
sosStew, I, 38), 65 @ (a8 Eod®
SHOT) $80 3D SEIE BRI, TS
SEHISHE, W, TG, 8 e (a8 GEost
SPH0OT) GEE0 D TEKE ERE T, & dorr
Bt $Bb0S® ErdhK) Shedt, el $Hdst
ERB) B8 $58 Bokd SIS Erthoy) DS a8
3588 oo Erth o). @l eddnpore
6X) H88, A PES To& oS TS
B8 TR0, TG S (B8 Eroy0b. w3°, 8% ©
Dy a8 KB IrED ErdnTmh. 38y 8 ©H5I
8V &) Bges’ esH wihE wdsoporr
sy, DD O 0y Ve §-6%Beh. 8od 0S®

D% wdsmpore A5 T ?
1) &8 (2) 208%
(3) 6 (4) &%

37
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145.

The symbols a, f, #, x and o are used with the
following meanings :

R a S implies that R is greater than S.

R £'S implies that R is lesser than S.

R # S implies that R is equal to S.

R * S implies that R is either greater than or
equal to S.

R o S implies that R is either lesser than or equal
to S.

Based on the above statements, answer the
following :

Statements :

MaN,OfM,MxP

Conclusions :

I. MxP

II. OfP

(1)
(2)
3)
4)

a, f, #, *,00 ©F Hozzen &0 808 T EOA GaRyom.
e 8]

Conclusion I is true but II is false.
Conclusion I is true but I is false.
Both the conclusions are true.
Neither I nor II is true.

R a So3b R,S 08 286 © &rdiob.

R fS 36 R,S 808 980 @ &rdikob.

R # S edb R, S % $&m0b0 0 $rdiod.

R x S 36 R, S %08 26 S $&rdo o

3 D0bk.

R o S @30 R, S %08 20 S $&rdo @
FSRTANIAN

23 ﬁ)S"@é&@§@26® agrdore, 8od wrl8 $dremrdo
8508.

D80 :

MaN,OfM,MwP
dooyo :

. MxP
II. OfP

) écg:éo I 585550 =H1I 90&5550.
(2) &oogbo T $85m =0 T edessem.
(3) L I &ooymeen Botie $dgm.

4) L, I 8ooymeen Botie e0dsg.
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146.

147.

148.

Read the following two statements carefully and
select the right conclusion, which follows the
statements.

Statements :

i.  All pens are Buses.

ii.  Some Buses are jeeps.

Conclusions :

I.  Alljeeps are pens.

II.  Some pens are jeeps.

(1) Only conclusion I follows.

(2) Only conclusion II follows.

(3) Both conclusions I and II follow.

(4) Neither conclusion I nor II follows.

808 D)X Tod PBLIOD erRE  $6d),

85 0808 65:5) 585 Bommre EfPSod.
D&Sen :

L o) Soren adoyen.

i, &°Q) adoyen dden.

&ooyen :

L o) &hen Seren.

I 5Q)8eren dden.

(1) 8o [5PEBah ©08k08.

(2) &oe0 1 5PEBaD ©00k08.

(3) &oeyeen I, 1T e Both e@Xabdarow.
(4) &oeyren I, 1T e0 Botd @X88058).

In the following question, there is some

relationship between the two terms to the left :

of :: and the same relationship holds between the
two terms to the right of ::. Find out the missing
term in place of ‘?’.

808 Bd@AS B 1 & AWK )8 &) otk
Hred a8 (‘OQQ 2020850 08, 1 : & Bl (KE G
Both HTred Erme o 39@ Howoo Go& 2’
b;(‘éoé‘s SO D3 Hredy EPSod.

MOUSE : KPSTC : : LIGHT : ?
(1) MGHFU (2) JGEFR
(3) JJEIR (4) MIHIU

If the letters in the word DOCUMENTATION
are rearranged in English alphabetical order,
which of the following letters is in the middle in
order after rearrangement ?

DOCUMENTATION o3 $508° egore, sor

58 80 050818, e 05088 & ¢od i ©0gdo

AE ?
(I M (2) N
3 O 4 T
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149.

150.

In a non-leap year, if Republic day of India is

celebrated on Wednesday, on which weekday

Mahatma Gandhi’s birthday will be celebrated in

the same year ?

(1) Sunday (2) Saturday

(3) Monday (4) Friday

&% Jod& 80 8 éoéﬁéﬁoé‘saﬁéé KeaddoEs

OFE 0 ‘T80’ wthHB08, oF SosESos®

£o5P@°) Pob) 2209089 O 8% iy B0ErS ?

(1) esdzeso (2) #aeBo

(3) Aardo 4) Hgzr8o

A statement followed by two assumptions A and

B are given below. An assumption is ‘something

supposed or taken for granted, i.e. a fact that can

be accepted as true on considering the contents

of the given statement.” You are required to

assess the given statement and decide which of

the given assumption(s) is/are implicit in the

statement and choose the appropriate option.

Statement : Transfer of Employees within the

state should be taken up for every threeyears.

Assumptions:

A: Transfer is one of the best tools available
for controlling the employees.

B: Employees overstayed may involve in the

corruption.

Only Assumption A is implicit.

Only Assumption B is implicit.

Both Assumptions A and B are implicit.

Neither Assumption A nor Assumption B is

implicit.

8o HS® 2.8 ©HELS, Toth grsden aRTean.

28 PEOS BoHTRE GHARK Hdr JaPeorr

FPORS WOV GO DERSH0. 8RS

B80S 008909,  HELS  Bohwedd D

DS /ardiden 8 hgosod.

BB : (S Bt SodEyore e 0 m@oé‘sﬁ

aefhotandiard.

gPHden :

A 685hed dobo@osto 5 260 ©In
©0erend? ¢ ©BsBH HO,T0.

B: %% seeo 28 HBEos® HIFD 65552%@

0288 e’ @ E0o Gob.

A S5 grQosad0d.

B £33 grQosadod.

A, B en Bo&r a,PEDoiSa)c:;on.

A,B en 3o eroSals.

(M
2
3)
“

M
2
3)
“)



Space for Rough Work
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10.
11.

12.

13.

14.
15.

16.
17.

18.

19.

Mark your Hall Ticket No. as given in the Hall Ticket
with Blue/Black Ball Point Pen by darkening
appropriate circles in side 1 of the OMR Answer Sheet.
Incorrect/not encoding will lead to invalidation of
your Answer Sheet.

Example: If the Hall Ticket No. is 1309102001, fill as
shown below :

T
=
=
o
==
— &
ez
— s

icleleiciolelaiol i

jcleleiololel talediy

ieleicioloiolelsl T

OO0 3

clelelolalelslale)
| lelelclvlolelalnl
clelciolololalal J
clclclolclelalals)
jelelelolclelel Ta][UE]
jelolelololelelslnl

oy

@
@
&
@
e}
®
@
&
L
@

Get the signature of the Invigilator affixed in the space
provided in the Answer Sheet. An Answer Sheet
without the signature of the Invigilator will be
invalidated. Candidate should sign in the space
provided in the OMR Answer Sheet.

Rough work should be done only in the space provided for
that purpose in the Question Paper Booklet. No other loose
sheet of paper will be allowed into the Examination hall.
Do not mark answer choices on the Question Booklet.
Violation of this will be viewed seriously.

In case of any discrepancy between English and
Telugu/Urdu Versions of the questions (in Bilingual Paper),
English Version of the question shall be treated as final.
Use of Calculators, Mathematical Tables, Log Books,
Pagers, Cell Phones or any other electronic gadgets is
strictly prohibited.

The candidate should write the Booklet Number and Sign
in the space provided in the Nominal Rolls while ensuring
the Bio-data printed against his/her name is correct.

No candidate should leave the examination hall until
completion of examination time.

Before leaving the examination hall, the candidate should
hand over the OMR Answer Sheet to the Invigilator, failing
which action will be taken for malpractice.

Candidates are permitted to take away the Question
Paper with them after completion of the exam.

The OMR Answer Sheet will be invalidated, if the candidate:
(i) writes the Hall Ticket No. in any other place of
OMR sheet, except in the space provided for the
purpose.

writes irrelevant matter, including the religious
symbols, words, prayers or any communication
whatsoever, in any place of the OMR Answer Sheet.
uses other than Blue/Black Ball Point Pen to
darken the circles.

forgets to bubble the Test Booklet number or
bubble multiple circles in a row while filling the
Test Booklet No. or bubble Hall Ticket No. other
than allotted to him/her.

resorts to wrong / erroneous / incomplete
bubbling of circles or using ¥" or x in the circles.
uses whitener on the Answer Sheet.

attempts any type of tampering (rubbing the
circles with chalk powder/scratching the circles
with razors etc.) on the OMR Answer Sheet.

(viii) adopts any method of malpractice.

No correspondence will be entertained in this matter by
the Commission, if the Answer Sheet is invalidated or
his/her candidature is rejected due to the above reasons.
The digital copy of OMR Answer Sheets will be made
available in the Commission’s website after
completion of the Image Scanning.

(i)

(iii)
(iv)

(v)

(vi)
(vii)
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: 10.
11.

12,

= 13.

14.

15.

16.
17.

18.

19.

BBS 358 S DB S S8 Kowb K ap /arE S Srowots
K8 OMR S5m0 HE:d RE-1 6° sl $oaus &yzros®
Q05D. HER BHPr Vo0 Toe @:)00 NoSETES0 0 D $85e0

B0 Kaerg08:50 TADRNED.
ST : 35S 35¢5 Soaath 1309102001 eavd 380k AKSore oard.

Hall Ticket Number
[(1JaJoJoefJaT2Jefe] 1]
L JORONOR NORORONON |
(oo RONeRONOE RoNONe)
o)l RoNaoRoFoRoReNeNe)
jojoRoNoRONORORONONC
oo ReN oo o oRo NN
(CNCRONCRONCRORONONG)
loNcRGNGROFORORG NGNS
loNCoRONCRONORORONOREH
loNoRoN RONCRORONONG
jclcl ool JoR XL Ao

R5EeS G0 6° Beronoiinls $oos® sRwtied Soso EuE%D.
BRARIBE 50880 BTG B0 e85 0 Bohexses. e P&
OMR 855059 oa@éoéis Beronodd (oooeSs SHRRBe Hosso 30“)7"@
) dEo & Berawodd (oooéis S DBy B S o)éé
KOS oy E 0,58 o;@aééoa )) £98 BBESSRERen B055IED.
B NEeS” SrTrek 5 B0 SO HONEBe.

B35 e (932 538850 ot aoéo‘?qég% SB35 Bewtd /&P é§5 oty
DB 3590 €508, 50RSBS &° )8 e8P HoKBosatRob.
ééé Kost S"@é)egééa@, S80S e 3 S eng,_ngs\), 2S5 @85‘3
B Dass DeEeRE S edGeRoNEo Ao

TS 85 & SmfotedS &5 SBKHE Aoren OB
I ﬁé@oéﬁ)é ) STese @25239 5855008 HFRE0 @Dé& 208 8¢5 H02d
K0 TS B S Qg Beranoseds é@ocﬁs TR Yoo BTe®.
508 Sy S8 D e oD S 988 a0 50 B¢ EQ8
0508 05,

88 edoBBo HBE K608 e 5%5{) S00th (58 @d OMR
BEe HEeQ) sQEERE & S50 edfiod 3. S 82D
56 (@85 Bots 15 BB,

988 @080 E e edihen 85 Sot RS

a8 o0 Bod @ UEeH oS edd TS HFo
Laers0850 BaHaied

(i) OMRSErERS S0 2 &5 3865 S0t el Beronodid
(oooe?s 8 D 188 (0006‘5 TR,

o)éééa Ao (00330650 T M050, & — K% [Foodd QTen,
Soen @6m%aaéém3pwwqéo DTRIONE,
Syzeodn 05708 & /2pE erd Fanods DO = O

(ii)

(iii)

B3B8 D3eRD GHRRACDI,
(iv) e038 Soab S S B85 Soab o adoh Bahroo
SO0 Beze B BES S0 50 Aom K555005008° 28 $5555

2,563 8y X3 58R00 D0BXSK, s 855 o0l S
3365 50205 578 98 5556 €385 S0l ?i)eaﬁ)oﬁ Bs®,

(V) 8roed B0 P SyErets P/ edosrgore Qo s T8
v o x 508 e Hyzres® A,

(vi)  S5mges HEo & Bo Roe (3625 )0 B3RS,

(vil) $5m5eS Sio B Kyzrers =8 &S B & Hgwo, EE &

AchHero HoB $50% @“og&?éégowé
(viii) D DEPo &S @8R e ©50DoNSK,
2 @ SPBE0NOIIK @eﬁé@o w8 S Hgren surergosto
Zabersdont o o0 edPEo 5 Tateds, & Jidhod®
EQES 8° DDSPRS 688 B SS00S ©55B0DRED.
S5 8BS 00188 e OMRSESFGS e (o) &t soben,
e J°)R0M @0k Somgs E0SS 3 265 & eotharens® 0.



TELANGANA STATE PUBLIC SERVICE COMMISSION: HYDERABAD

GROUP- 1 SERVICES, NOTIFICATION NO.04/2022

Preliminary Test — General Studies and Mental Ability (Paper Code: 22040)

Final Key (MASTER QUESTION PAPER)

Q.No. Key Q.No. Key Q.No. Key Q.No. Key Q.No. Key
1 3 31 2 61 1 91 4 121 4
2 4 32 1 62 2 92 3 122 4
3 3 33 3 63 2 93 3 123 3
4 4 34 4 64 3 94 4 124 2
5 2 35 1 65 2 95 2 125 3
6 3 36 3 66 2 96 3 126 4
7 2 37 3 67 4 97 3 127 2
8 2 38 1 68 3 98 4 128 3
9 3 39 4 69 DELETED 99 3 129 3
10 3 40 4 70 4 100 3 130 2
11 3 41 3 71 3 101 1 131 2
12 1 42 3 72 3 102 3 132 3
13 2 43 1 73 1 103 4 133 10R2
14 1 44 4 74 3 104 3 134 1
15 3 45 4 75 2 105 3 135 3
16 3 46 3 76 1 106 3 136

10R20R
17 2 47 2 77 1 107 30R 4 137 2
18 2 48 DELETED 78 2 108 4 138 | DELETED
19 2 49 4 79 3 109 2 139 3
20 3 50 1 80 2 110 3 140 1
21 1 51 4 81 2 111 3 141 1
22 3 52 2 82 DELETED | 112 1 142 1
23 2 53 4 83 3 113 2 143 1
24 2 54 1 84 2 114 1 144 4
25 2 55 3 85 3 115 2 145 2
26 4 56 2 86 2 116 4 146 4
27 1 57 1 87 4 117 1 147 3
28 3 58 3 88 3 118 3 148 2
29 DELETED 59 1 89 1 119 4 149 1
30 2 60 1 90 3 120 1 150 3
Sd/-
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